BUILUEK: 1UKNER BKU IHERD, LLL
TABLE OF CONTENTS
CUSTOMER: W B MASON PORTLAND ME. /_/_////////
GENERAL INFORMATION G1-G1 _ /EXIstlng Bldg. /
LOCATION:  PORTLAND, ME ANCHOR ROD PLAN A1-A4 LSS
SWA FRONT DOWNSFOUT DOWNSPOUT CROSS SECTION CS1-CS6 Cc
WIDTH LENGTH HEIGHT ROOF PITCH DROPS-SWA DROPS-SWC ROOF FRAMING RF1-RF6
Bldg A : 5867 114.83 16.00 0375 8 0 ROOF grlDE;vaLcI;. R$1-RSS
ENDWALL E1-ES 1At
UPDATED DETAILS UD1-UD1 B BUILDING ¢ e
QUALITY ASSURANCE POLICY Q1-Q1
A
Roof Sheeting:
Tyoe: Framing Kits & Wall Openings
ype: MSC Ordered Options: See Accessory Schedule on KEY PLAN
Anchor Rod Plan, Page A1l.
Gage: 24 - .
Base Condition: Base angle w/ trim __‘ B |$ SORLRSERTS __1 B '__
: Galval d
Color: - Galyalume Base Trim Color: Cherokee 50" LP
all Mastic: N ; o
Wall Sheeting: peallza 0 Loading Information & Frame Column Reactions I E a
Vyall sneetng: -
UL Rating: 90 See Load Nates and Reactions on Anchor
Type: €S Rod Detail Page, Page A3-A4. __I l__ __| B I‘-
Thermal Blocks: Yes
Gage: 26
Sidewall Eave Trim Type: Eave Gutier DESIGNATION| D B DESIGNATION| D B
Color: Cherokee e 500
Eave & Gable Trim Color: Cherokee 814 8.00 :ﬁ ::i :ﬁ :;.552
Finish : Kynar 812 8.00 | 3.0 812 800 | 250
Downspout Type: Closed 1014 1000 | 3.50 1014 1000 | 275
1012 1000 | 3.50 1012 1000 | 275
Downspout Color: Cherokee
Drawing Designation:
Framing: Elbows at Bottom of Drops: Yes “’E.emmfmf&”xmifﬁ ﬁ:ﬂ g GENERAL
. :e:ils an:‘ pt:n Jm ?ra missing, they are preliminary DETAIL et
Purlin Type: Zees Corner Trim Color: Cherokee consilored fina drawings. construction and are fiot MAMBLY e
b) Drawings stamped "PROGRESS DRAWINGS" are drawings
Girt Type. Cees Framed Opening Trim Color:  Cherokee 2‘&-"&1&‘%‘“ m&“‘iﬁ‘mm“'m%“
A i cons| ;:
Light Transmitting Panels: 0 o) Dlawlins;s stanmmumm FOR APPROVAL® are ﬁﬁ:ﬁ&_—ﬁﬂ
preliminary drawings, used for approval with
no part markings and are nol to be used for construction.
SHEETING TYPES
&, ﬁ)?:
rL r] q i 10 Bk
______ ~~ | swgEluN ___ _ _ __ __{ _ _ _STEELUNE | ____ STEELLNE | l————————— | HSED E0R
STEEL LINE T R N ' I—\ T 5 STEEL LINE Uil Fui
i iy ‘C",—._I gk
LTC Panel AP Panel L8]
L\ J‘n CFW-PANEL FSP-PANEL MVF/MVP-PANEL
______ R __MEM% k\“\r%;::-jﬂi{%?ﬁ
S 7 I
STC Panel CS Panel REVISIONS NOTWITHSTANDING THE ADIAGENT :chc\\f:_..- " . _"'5"/,%\-5% COVER PAGE
NOR CHIEF BUILDINGS IS ACTING - 3 G -
A NoRC HEFBMDNGIBACTRG N o . ~ | TURNER BROTHERS, LLC./W. B. MASON
‘ ENGINEER REVIEW ENGINEER NAMED AND CHIEF BULDINGS = X & A\ M. &L % = | PORTLAND, ME
A RESPONSIBILITY IS LIMITED TO THE = 5 : =5 Z = J
STRUCTURAL PERFORMANCE OF THE = - wlf = & = |
EASS e T — ENGINEER DATE A S e =5t NB 47 : LE;C z 2-BUILDING COMPLEX
DESIGNED BY CHIEF BUILDINGS. 2 % & o % CHIEFE DRAWN | CHECK ORDER NO. C1
- py IOENEE LS & .
H5tiRane o A s, Qo NS GN s [Buipines T L, L eous | saia | o agp000
ay ANy T ey * e cuwnsiwo el 18 NOV.09 | S-DEC09




5/16" HEX CARBON
STEEL HEAD

#12 - 24 X1 1/4" WIO

e LTC/MVF/MVP CLIP TO BAR JOIST WITH UP TO
4" THICK INSULATION.
o MEZZANINE DECKING TO BAR JOIST.

#12-14 X1 1/4" WIO

o LTC/MVF/MVP CUP TO PURLIN WITH UP TQ 4" THICK
INSULATION

SUPPORT PLATE TO PURLINS AT HIP OR VALLEY
CONDITIONS-LTC / MVF / MVP ROOF

5/16" HEX CARBON
STEEL HEAD

#12 - 24 X 1 1/2" W/O

o LTC/MVF/MVP CLIP TO BAR JOIST WITH OVER
4" THICK INSULATION

" CARBO 3/8" HEX CARBON /8" HEX CARBON 3/8" HEX CARBON
?;gﬁfﬁxm N STEEL PAINTED STEEL HEAD WITH STEEL HEAD
' HEAD WITH SEALING SEALING WASHER
WASHER
174 -14 X 1" 14 -14 X 1 1/2" 114 - 14 X 1 1/4" SHOULDER
a MSC-STC-CLIP TO PURLIN (WITH UP TO 4" THICK
INSULATION)
s EAVE PLATETO PURLIN
o INSIDE CLOSURE TO EAVE PLATE OR EAVE STRUT s MSC/STC-CLIP TO PURLIN WITH OVER 4° THICK
s CFW-16 WALL PANEL CLIP SCREW INSULATION
s SUPPORT PLATE TO PURLINS AT HIP OR VALLEY s SUPPORT PLATE TO PURLINS AT HIP OR VALLEY s MSC/STC-RAKE SUPPORT TO PURLIN
CONDITIONS-MSC / STC ROOF CONDITIONS-MSC / STC ROOF o FLOATING EAVE PLATETOEAVE STRUT = _

516" HEX CARBON
STEEL HEAD

#12-14 X1 172" WIO

LTCMVF/MVP CLIP TO PURLIN WITH OVER

4" THICK INSULATION

SUPPORT PLATE TO PURLINS AT HIP OR VALLEY
.. CONDITIONS-LTC / MVF / MVP ROOF

5/16™ HEX CARBON
STEEL HEAD WITH
SEALING WASHER

#12-24 x11/2"

s MSC/STC CLIP SCREW FOR BAR JOIST
= DECKING ATTACMENT TO BAR JOIST AND BEAMS

3/8" HEX CARBON
STEEL HEAD

174 - 20 X 1 1/4" SHOULDER

o MSC/STC-RAKE SUPPORT TO JOIST
o _FLOATING EAVE PLATE TO JOIST

STEEL SHANK

PAINTED ALUMINUM RIVET

| 1/8" X 3/8" POP RIVET

s MSC/STC/MVF / MVP OUTSIDE CLOSURE
TO BACK-UP ANGLE AT HIP CONDITION
o TRIMTOTRIM

5/16" HEX CARBON
STEEL PAINTED HEAD
WITH SEALING WASHER

1/4 - 14 X 7/8"

3/8" HEX ZINC
ALUMINUM PAINTED
HEAD W/3/8" INTEGRAL
WASHER

1/4 -14 X 7/8" WT

516" HEX CARBON
STEEL PAINTED HEAD
WITH SEALING WASHER

#12-14 X1 1/4"

ZINC PLATED PANCAKE
HEAD #2 PHILLIPS

#10 - 16 X 1" PANCAKE HEAD

» TRIM TO STEEL

o  RAKE ANGLE TO PURLINS-MSC / STC ROOF
o CORNER ANGLETO GIRTS
+ WALL OR SOFFIT PANEL: TRIM TO PANEL OR PANEL TO o WALL PANEL TO STEEL . ';a$ g%srrooszupmpoums
PANEL = CS/AP SOFFIT PANEL TO STEEL ¢ SUPPORT PLATE TO PURLINS AT HIP OR VALLEY
s MEZZANINE DECKING AT SIDE LAPS. + ROOF: SHEETING TO SHEETING, TRIM TO SHEETING o DECKING TO PURLIN b enss mpllod s
o WALL OR SOFFIT PANEL: TRIMTO TRIM_ AND RIDGE FLASHING TO RIDGE CLOSURE __|»_RAKE ANGLE TO PURLINS-LTC / MVF | MVP | CS ROOF -
2 MHA“}_‘-EM'}“&';“?; ALUMINUM SHANK
378" HEX ZINC 318" HEX ZINC SEALING WASHER
ALUMINUM PAINTED ALUMINUM HEAD,
. HEAD WI/E" INTEGRAL WI/3/8* INTEGRAL =Y
3/8" HEX CARBON
STEEL HEAD WASHER WASHER = L
WITH BEALING MASHER SIDEVIEW  TOP VIEW
ALUMINUM
RIVET
[ {] n
#17 X 3/4" 114 -14 X 1 112" WT #17 X1"WT - 3M6" BULBTITE RIVET AND
ke « LTC-VERTICAL RIBS OF PANEL
« ROOF PANEL TO STEEL * i, * LIGHT TRANSMITTING PANEL TO LIGHT
« "STRIP OUT* REPLACEMENT FASTENERS FOR WALL « BACK-UP PANEL TO STEEL « "STRIP OUT" REPLACEMENT FASTENER FORROOFAND »* L = O F 17 ‘4, TRANSMITTING PANEL SIDE LAP
| PANEL, SOFFIT PANEL AND TRIM o B « ROOF TRIM TO STEEL BACK-UP PANEL AND TRIM BN S £ “, s WINDOWS BY CHIEF TO WINDOW JAMBS
- h\ - T s
NOTE: THE DETAILS ON THIS PAGE OVERRIDE DETAILS IN THE REVISIONS :mrsrmg:‘é E”Ngl‘:‘%‘é‘ﬂc:mm T O wiLuAM & = FASTENER IDENTIFICATION GD
ERECTION MANUALS. A NOR GHIEF g::égu&_s BACTNG T . “ 4 = | TURNER BROTHERS. LLC. / W.B. MASON PORTLAND ME
AS THE ENGI RECORD. z P : B i
ENGINEER NAMED AND CHEF BULDINGS = WA f. = PORTLAND, ME
A RESPONSIBILITY ISLMITEDTOTHE = 0 Ao L e T
STRUCTURAL PERFORMANCE OF THE =, ™ o 13-4l - 8 PR 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS 2 LD e SO SO S
@ T = Sl DRAWN | CHECK ORDER NO. Gi
s e DESIGNED BY CHIEF BUILDINGS. - Sk NS \\5’\\\ 2 cnmu:Hn!EE o =
2, TS b i
= A ‘7 '!O NAL ke NS # bl of i bderriog o, (0, ONTRL 0095226
SUPERSEDES | 09-10-08 AR mwoEmD€| 924 NOV-03 | 3-DEC-09 G1




ELEV. = 105'4"

- @

N

7

j
s
=]
i~

w

MARK | QUAN DESCRIPTION
A 2 3070 WALKDOOR F.O.
B 1 8-0" X §'-0" OVERHEAD DOOR F.O.
c 4 |22-0"X 12'4" OVERHEAD DOORF.O.

[ 987" BL TOBL
é Fl__ter 280" 280° s
. " -
©) %Ja‘ 4 EXISTING BUILDING
(o]
S /
& BLEV. = 1054" WA S S S S S S S LSS ///////////////////////////////////////// 7.
% o) SO ® o) ¢ e :
ELEV.=1054"~ & g 4n / z Hx-1 Ak ]
5 ELEV. = 1054 ELEV. = 1054" 2 ELEV. = 1054* ELEV. = 1054"
a
| El |
m
" AP . 5
5 £ FINISH FLOOR = 1060 o
a 2 Q
®
a
ELEV. = 1054 | @ ELEV. = 1054° \] @ ELEV. = 1054" \I @
_— . L einisH FLOOR TRANSTION
=36, Ik FROM 1028 TO106-0" V=44.9 B :
@' . F \up=7.5k ‘8 Vup=6.4k 2
oy Hx=2.2k ‘ A Hx=2.2k =
2 Hy=2.0k Hy=1.0k 7
[ 5
3 | o
= = -
3| . 3 .l B
*l 1 ¢ 1l &
B o &l B
e
o= ﬂ ©
BLDG. "A" E an
3 a5
&g | §° |
; V=158 _ 9 V=169 B 3
Ny F Vup=4.7 o = Vipmb gk o
Hx=1.7k by 7] Hx=1.7k
Hy=2.0k -] ?L Hy=1.8k
: | t
5
A ELEV.=1030° B A EEV.= 103 ~
@ V=7.5k ELEV. = 1030 T @ ELEV. = 103'-0* @ : / @ = ELEV. = 103-0" @ ELEV. = 103'0" ¥;;=51k3k®1
o v £ - A O 5 =®
E o2 | o ] 20 | 0 | a0 | 270 | zr | as &
1 r I i 1 I
302" 264" 280" 288
1
114-10" BLTOBL
LOWSIDE
W ANCHOR ROD PLAN Ew
FINISHED FLOOR ELEVATION = 1024"
3 BASE OF ALL COLUMNS AT ELEVATION = 102'4"
REFERENGE NOTES: BASE OF FRAME OPENING JAMBS AT ELEVATION = 102-4" att WWiloyg,,
1. ALL ANCHOR RODS INCLUDING NUTS AND WASHERS FOR SAME (UNLESS OTHERWISE NOTED) ALFE OF 2, Ye,
ARE NOT FURNISHED BY CHIEF BUILDINGS. ANCHOR RODS REVISIONS NOTWITHSTANDING THE ADJACENT . ANCHOR ROD DRAWINGS
2. ANCHOR ROD MATERIAL SHALL CONFORM TO ASTM F1554 HAVING (BY OTHERS) SEAL HBITHEK THE ENCISIEE SED
A YIELD OF 36KS! OR GREATER QUAN | SiZE | PROJ o\ ﬁﬁ?ﬁéﬂ;@éﬁéﬁﬁm TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
: 3 EER NAME CHIEF BUILDINGS
3. ROD PROJECTIONS ARE RECOMMENDED MINIMUMS BASED ON THE BASE PLATE i WZ_Q Vi A E:S‘P'é,.,smm %Afnﬂmn TO THE PORTLAND, ME
BEARING DIRECTLY ON THE CONCRETE PIER. IF THE BASE PLATE IS TO BEAR 92 oo z STRUCTURAL PERFORMANCE OF THE 2-BUILDING COMPLEX
ON GROUT, THE ROD PROJECTION MUST BE INCREASED ACCORDINGLY. REVISED PER CHANGE ORDER #3 11-DEC-09 JSA PRE-ENGINEERED COMPONENTS . et T TR A
4. CONCRETE SHALL HAVE A MINIMUM STRENGTH OF 3000 PSi. BENCHRD Y GiEr BLLTIN S CHIEF ? 5 o
REVISED PER CHANGE ORDER #1_18-NOV-09 BLO X ; BUILDINGS ..l B C095226
5. ALL DRAWINGS ARE NOT TO SCALE. [1 Y O f{'} AL \—‘ s | e cwpianore| 17N0V-09 | 17-NOV-09 A4
iy v ¥




s ‘;/ P A o L LLL £ A leaw | mt o P
2 1» : 1 1% 2 (4) 3/4" DIA Q = E
3 adr :
7] g . % 2 _ — ||  ANCHORRoDS = X .| @ 2.
. 3 2 5 B % (NOTBY CHEF) < ¢ FRAME 5 =l % I FRAME
z ~ = - 14 % . i
71 i et
= i 1 & o —- —o— —-— G-
&4 4 g *ir’# o I-Zz,w 4] —t B L— EEENN |
YT ; 11T : 4 . = —o— — L4
% g % ¥ T T £ o Wi i
il i IR
N i e ey . (4) 3/4" DIA. v
(4) 3/4" DIA. (4) 34" DIA. FINISH FLOOR " 'g g" 4 (4) 3/4” DIA. ANCHOR RODS
ANCHOR RODS ANCHOR RODS TRANSITION LINE 8 ?‘“é’HOR RODS (NOT BY CHIEF) 4 9"
(NOT BY CHIEF) . (NOT BY CHIEF) " | ) (NOT BY CHIEF)
BAY SPACING | BAY SPACING g g e | e
i
(160 SQ. IN PIER REQ'D. FOR BEARING PRESSURE] '
DETAIL @ DETAIL @ A _ DETAL [x DETAIL @ DETAIL @
FRAME WP !
¢ FRAME ¢ EWR . (4) 344" DIA, <% 1 /
6" 10" 6" . e g - . ANCHOR RODS ;
i - | 6 1-0 6 | noTBY cHier) | VP S 9 % 5. /
(4) 314" DIA (4) 3/4" DIA. l 4 & e @il
9" 4" ANCHOR RODS ANCHOR RODS 4 g 1 M 3. 3" - ©
(NOT BY CHIEF) (NQT BY CHIEF) \ 1 7 . 13 I 5 @ 3%" 3 / i
i —- . = - - T _+_ _+_ 1. bl /o
‘—(l;N T“m o ‘T’ ) iﬂ ;,‘-n * 'E‘l,N 1%.. IS " 9 . —p— Loy /
—&— —éi— i = N ) —— —— — = ke - | —1 = / «
) . - o 1. 2| s | L
H ad —%4 =iy 3i =
el v et o~ ki— . == b ; \\_ T /
= (2) 172" DIA. 1, e * } 3 % 10° | & | DA (4) 34" DA | /
ANCHOR RODS 12 < g (2) 1/2 DIA. ANCHOR 7 ol u < ANCHOR RODS 9
(NOT BY GHIEF) = RODS (NOT BY CHIEF) 12" (NOT BY CHIEF) b1 BY Ol "
EXIST. B
EW
DETAIL @ A DETAL @ DETAIL @ ? DETAIL @ DETAILL @
EXIST. ,/
. // / // / // {4) 3/4" DIA. EWB EWB
7 e ANCHOR RODS , 1 11" & STEMWALL (NOT BY CHIEF)
"——* = io" - (NOT BY CHIEF) [ (4) 34" DIA (4) 1/2° DIA ANCHOR
als 2. i _\ i"oﬁ“gRgODS / RODS (NOT BY CHIEF)
(4) 3/4" DIA 2 w g L 11" N\ i (NOTBYCHIER )
ANCHOR RODS 4 i ] - S % —,bl
(NOT BY CHIEF) \ _—I / e £ % r_ T P Ff)‘—- i 7
- —8— - N PN A o ?I
- t \’} # /:EJ o 5 ‘-E’N T il —p— p— o 0
el N‘}— ~ b o~ g 1%..
414 A~ 5 G £ oY g 10° .:.N[ 1. | NOM. DOORWIDTH |
L T u (4) 34" DIA. ANCHOR - 5l + ¥ - R T e
RODS (NOT BY CHIEF) EWB = & i 3-7" (3068 & 3070)
- - . 4-7° (4070)
= 13" 67" (6068 & 6070) 3"
DETAIL [ » DETAIL @ DETAIL @ \witiias,, DETAIL @ WALK DOOR ANCHOR ROD DETAIL
\\\\‘ = OF s !”’I
] REVISIONS NOTWITHSTANDING THE ADJACENT N o
— [ e et tes 3 O)@j, e ,p((\z&; ANCHOR ROD DRAWINGS
S i NOR CHIEF BUILDINGS IS AC s — Vel 2
1. ACTUAL BASE PLATE DIMENSIONS MAY BE SMALLE# 2 AS THE ENGINEER OF RECORD. THE g -T@Wﬂ-_ - TURNER BROTHERS' LLC./ W B. MASON PORTLAND ME
THAN BASE PLATE DIMENSIONS SHOWN. o ENGINEER NAMED AND CHIEF BUILDINGE 37 - ¥\ R PORTLAND, ME
18 RESPONSIBILITY IS IMITEDTOTHE = &g i .
A3 STRUCTURAL PERFORMANCE OF THE = —3 s ae S = 2-BUILDING COMPLEX
i PRE-ENGINEEREDCOMPONENTS ~ — -3 = 1M0. 8230 -4y =
A DESIGNED BY CHIEF BUILDINGS. % Qo g <0 _\_\fy N HIEF DRAWN | CHECK ORDER NO. A2
2009 i A REVISED PERC. 0. #3 & FIXED DETAIL T JSA 11-DEC09 % {\\&' CENSEL S 8 BUILDINGS /1 BLO J3A CO9522
. . A 7N DN P SmABBITILEE comnstye. €| 17.80V-09 | 17-NOV-09 6 Ad

T AR s b s St e




STEMWALL BASE ANGLE (A-20-B) CONTRACTOR IS RESPONSIBLE ONE PIECE BASE 'BASE ANCHORAGE SPACING FOR STANDARD BASE ANGLE,
(NOT BY CHIEF) OR BASE GIRT (BG) ? FOR ANCHORING BASE MEMBER ANGLE (OPB) BASE GIRT OR ONE PIECE BASE WITH CS OR AP WALLS
i STIC TO CONCRETE. MASTIC MINIMUM MAXIMUM
(4) 1/2" DIA. ANCHOR (4) 1/2" DIA. ANCHOR MA FASTENER TYPE & DIAMETER
/ RODS (NOT BY CHIEF) RODS (NOT BY CHIEF) ~\ (NOT BY CHIEF) [HOTEY CHIER) - EWEEDMENT | SPACNG
114" WEDGE ANCHOR 1104 3
1 ;
(/ : Q: ] . BASE ANGLE (A-20-B) 2 i . 1/4" SCREW TYPE ANCHOR @ i ‘Mt :ﬁ-:oov; g
& 4 CRE B OR BASE GIRT (BG) e 3/8" CAST-IN ANCHOR i 0"
3 = 5 g 85 v ¥ OR HEAD
eyl L[ ‘*:l: ¥ WITHOUT | Mh=Tle e WITHOLT °, 1/4" HAMMERIN @ 13/8* 20
HT% L & NOTCH (NOT BY CHIEF) = NOTCH
o [ iy - _ —_— 0.14" POWDER ACTUATED @ 114" 1-6"
= : i & @ HILT! KOMIK BOLT®, RAMSET TRUBOLT®, POWERS
Y ey <iew <y o ol T POWERSTUD®, OR EQUAL
RAMSET, ANCHOR ROD, OR @ gl;sEEAS:LON@. HILTI KWIK-CON I4®, POWERS WEDGE-BOLT®,
1l OVERHEAD DOOR WIDTH 1%.. EXPANSION BOLT (2" FROM @ I;OWERS ZAMAC HAMMER SCREW®, HILTI METAL HIT ANCHOR®,
3" | OVERHEAD DOORWIDTH | 3° 2 D EACH END THEN SPACING FROM B EQLIAL
FASTENER SPACING CHART) (TYP.) ), PONE CALLISTIC PO (T PN RAMRET 13000600 SERES:
OVERHEAD DOOR OVERHEAD DOOR WITH NOTCH
ANCHOR ROD DETAIL : ANCHOR ROD DETAIL BASE MEMBER DETAILS FASTENER SPACING CHART
This building has been designed for a collateral load of 5 psf. tTrt":I buiii{ierglhaz bgen Eesig_lr}ed for ael col'liat;r:l Ioad:l;f psf. The
| The total applied loads due to ceiling panels, ducts, sprinkler otal applied loads due to ceiling panels, ducis, Sprin _— . .
distribution lines, elactrical equipment, conduit, freproofing,  |distribution lines, electrical equipment, condul, fireproofing, other Bmldmg gge;:lzgznscmena
other piping and mechanical loads, etc., cannot exceed this |PiPing and mechanical loads, etc., cannot exceed this collateral
collateral load. In no case shall the total uniform collateral load |/0ad. In no case shall the total uniform collateral load on an ;
on an individual raof member exceed the product of 5 psf times (individual raof member exceed the product of 5 psf times the ORIENTATION OF Building Code IBC 2003
the spacing of the supporting member. Nor shall any individual |SPacing of the supporting member. Nor shall any individual point HORIZONTAL REACTIONS: 2002 MBMA Occupancy Category Standard Buildings
point load or summation of point loads on any one reof member load or summation of point loads on any one roof membar excead Roof Live Load 20 psf (Tributary Area Reduction Allowed)
excaed the product of 5 psf times the member spacing times  |the product of § psf times the member spacing times half the Collateral Load 5 psf
half the member length. In addition, no individual point load an a member length. In addition, no individual point load on a puriin Hx Hy Ground Snow Load (Pg) 70 psf
purlin can exceed 100 Ibs. All loads suspended from purlins can exceed 300 Ibs. All loads suspended from purlins shall have Hy Hx Expoiiiié Faclor: (C8) i
shall have the load introduced through the web and not the the load introduced through the web and not the flange of the — —— P o .
flange of the purlin. Hangers cannot be supported from the edge puriin. Hangers cannot be supported from the edge of flanges. Thermal Factor (Ct) 1.0
of flanges or through holes in the flanges of the puriins. Design Maximum 9/16" diameter holes can be drilled in the flanges of the Hx IS PARALLEL TO THE COLUMN WEB AND Importance Factor (1) 1.0
of hangers and their attachments are not by Chief Buildings. WF purlins for support clips (not by Chief Buildings.) Design of | Flat Roof Snow Load (Pf) 49 psf
2 e h d their attachments ot by Chief Buildi Chisf Hy IS PERPENDICULAR TO THE COLUMN WEB, .
Chief Buildings is NOT responsible for lateral or longitudinal a':'g?m an eir a m are not by Chief Bul ings. Lhie FOR ALL ENDWALL COLUMNS & SOLDIER COLUMNS Building Enclosure Enclosed
bracing of suspended members subjected to horizontal service, Buildings is NOT responsible for lateral or longitudinal bracing of BY CHI=F BUILDINGS. Wind Speed 94 mph (GCpi + 0.18)
seismic, or wind loading. suspended members subjected to horizontal service, seismic, or :
: wind loading. Exposure Category B
Chief Buildings neither assumes nor accepls any responsibility . o ) - Importance Factor (1) 1.0
for the design of hangers, bracing of suspended members, Chief Buildings neither assumes nor accepts any responsibility for Wi{'ld Pressure (@) 13.46 psf
{ransverse support members, nor connections to roof puriins. It |the design of hangers, bracing of suspended members, Seismic
is the responsibility of the Buyer/Contractor and/or End Owner transverse support members, nor connections to roof purfins. ltis / Spectral Response Short Periods (Ss) 37.0%
to have this design performed by a registered design the responsibility of the Buyer/Contractor andfor End Owner to 1. COLUMN FOOTINGS AND PIERS MUST BE DESIGNED TO Spectral Response 1 s Period (S1) 10.0%
professional, have this design performed by a registered design professional. ;vl:'rotﬁ;‘rpg:? T:%Rfuomhirdgggg :ﬁ;‘%ﬁ ;E;ﬁ{g:gs A?s Seismic Importance Factor 10
Pm!’:GER AT INDIVIDUAL ZEE PURLIN mGER AT INDIVIDUAL ZEE PURLIN NOT RESPONSIBLE FOR DESIGN OF CONCRETE Use Group |
FOUNDATION. CHIEF BUILDINGS RECOMMENDS THAT THE : o
AT B THROUGH - HOLES MUST BE SERVICES OF A QUALIFIED ENGINEER IS OBTAINED BY THE gf.:sngc?a(;:teg Y g
THE WES CONCENTRIC ABOUT WEB CONTRAGTOR / BUILDER TQ DESIGN THE FOUNDATIONS TR o
NAX HOLE 1 = G FOR THE INDICATED REACTIONS. Seismic Resisting System
HANGER AND CONNECTION TO PURLIN HANGER AND CONNECTION TO PURLIN _ Longitudinal Direction Steel System (R=3.0)
ARE NOT BY CHIEF BUILDINGS ~—" ARE NOT BY CHIEF BUILDINGS ﬁom%?mvﬁﬁ A?Q“E%T \}EN K::sKig- IE‘GTP =1000 LBS) Lateral Direction Steel System (R=3.0)
MAXIMUM INDIVIDUAL MAXIMUM INDIVIDUAL Seismic Response Coefficient (Cs) 0.124
PO POINTLOAD i}f‘gggﬁg':gg ?g:é?g‘di:gsﬁggiﬁgsmﬁ’gs " Spectral Response Parameter Short Period (SDS) 0.371
HANGER BETWEEN ZEE PURLINS HANGER BETWEEN ZEE PURLINS NOT RESPONSIBLE FOR ANCHOR ROD SIZE Spectral Response Parameter 1 s Period (SD1) 0.160
STRUTSAND CONNECTIONS STRUTS AND CONNEGTIONS RECOMMENDATIONS WHEN ANCHOR ROD CONFIGURATION Analysis Procedure ELF
o / AE Mot BY CHEE e LS PURLIN AENGT Y CHRSTRURIISS PLACES THE RODS IN A BENDING MODE. WHEN THE Base Shear 19.218 Ibs
el -y - _— COLUMN BASE PLATE BEARS ON GROUT, THE Otiar Losis: ! :
PURLIN PURLN CONTRAGTOR / BUILDER OR FOUNDATION ENGINEER SHALL er Loads. None
) . INVESTIGATE BENDING IN THE ANCHOR RODS AND
T \ e AN \ MAXIMUMREAGTION | T \ BT A e RTON PROVIDE A SHEAR KEY FOR THE COLUMN BASE TO THE
PIER WHEN THE ANCHOR RODS ARE NOT ADEQUATE IN
HANGER AND CONNECTION — ?3"5%51 Agowcoug_rsgnou = (ENDING ABOUT THE PIER. / wrtt (RRRR D +
Y N Y ~poy- 4%
il Higl GHIEF BUILDINGS ; \‘\,4\ e OF Qf,a”'-‘, fiok ArE
REVISIONS NOTWITHSTANDING THE ADJACENT SaBieeree M %, | ANCHOR ROD DRAWINGS
o Yo e BLDNGS SACTNG. 5 2 wiay < % | TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
1_ AGTUAL BASE PLATE DIMENSIONS MAY BE SMALLER AS THE ENGINEER OF RECORD. THE S TW - : =
THAN BASE PLATE DIMENSIONS SHOWN. A ENGINEER NAMED AND CHIEF BULDINGS = ™ . r%-ﬁqs ) ,L[ 1 ™ = | PORTLAND, ME
RESPONSIBILITY IS LIMITED TO THE A LSH iz
sgicrg:gé ;ngcmﬁg BERE T 2 {242ty Lﬂj = | 2-BUILDING COMPLEX
PRE-ENGI = B L 4
A DESIGNED BY CHIEF BUILDINGS. e Q Ny -y D L c H l E E? DRAWN CHECK ORDER NO. A3
Yo\ REVISED PER CHANGE ORDER #1_18-NOV-09 BLO 2 CYENST ST T IsuILDINGS, L, 2, 2o -5 C095226
S, R ! SwommIE {7NOV-09 | 17-NOV-09 Ad




T T

N i

va
Y1
.5 X2 X1, X2,
LOAD TYPE X1 Yi]__v2] X3 ¥3 r
DL- DEAD LOAD 02| 28] 88| -02] 10 i Y2 I“ fic
COL- COLLATERAL 03] 24| 54| -03] 07
LL - LIVE LOAD 0.8 57 13.0 =0.8 1.7
e D o R Y BT LOAD TYPE X1 Y1 X2 Y2 LOAD TYPE X1 Y1 X2 Y2
I WIND ERDILEFT ] B 7Y T T R DL - DEAD LOAD 0.1 06/ 0.1 0.8 DL - DEAD LOAD 01 08| 041 0.6
WLR-WIND FROM RIGHT 18] 32| 74 30| 24 WLL- WIND FROM LEFT -14 -1.8 -14 1.5 WLL- WIND FROM LEFT -21 -24 21 2.1
WLZ- WIND LT CASE 2 24| -a1| 83| 18] 13 WLR- WIND FROM RIGHT 14| 15 14] 15 WLR- WIND FROM RIGHT 21 21 XY
VWR2- WIND RT CASE 2 08| 40| 20| 33| -4 SEL- SEISMIC LOAD 45| 48] 45| 48 SEL- SEISMIC LOAD 48| 7] 48] 47
WLE- WIND ON ENDWALL 11] 68| -128] 02| -20 SER- SEISMIC LOAD 4.5 4.8 45 48 SER- SEISMIC LOAD 46 47 4.6 4.7
WE2- EWWIND CASE 2 121 -S4] 430] -02] 434 MAXIMUM POSITIVE 33] 40| 31| 40 MAXIMUM POSITIVE 33| 40| 32 40
LLA 03 ag] od| . -0 A8 MAXIMUM NEGATIVE 31| 30| 33| -30 MAXIMUM NEGATIVE 32| 30| 33| 30
LLB 0] 02| 40| 1] 38
SEI- SEISMIC LOAD 1.3 0a] 28] s8] 24
MAXIMUM POSITIVE 4.0 260 95.3 3.2 6.8 COB5228AA1 REACTIONS USED AT LINE(S): 18 CO35226AC1 REACTIONS USED AT LINE(S). 14.9
MAXIMUM NEGATIVE 22| 53| e8| 43| 24
COB5226A01 REAGTIONS USED AT LINE(S}: J, G.5,& F
(CHIEF BUILDINGS IS NOT RESPONSIBLE FOR \

CONCRETE AND/OR MASONRY DESIGN, DIMENSIONS &
REINFORCING STEEL DETAILS. CHIEF BUILDINGS
RECOMMENDS THE CONTRACTOR/BUILDER TO OBTAIN
THE SERVICES OF A QUALIFIED DESIGN ENGINEER FOR
DESIGNS & DRAWINGS OF MASONRY OR CONCRETE
WALL, FLOORS, & FOUNDATIONS TO WITHSTAND THE
COLUMN REACTIONS INDICATED ON THE A.B. PLAN.
CONCRETE OR MASONRY WALLS SHALL ALSO BE
DESIGNED TO WITHSTAND WIND/SEISMIC LOAD ON THE
WALL & BASE OF BLDG. WALL PANEL.

2. WHEN ENDWALL POST & CORNER POST REACTIONS
ARE NOT INDICATED, THE CONTRACTOR/BUILDER &/OR
CONCRETE DESIGN ENGINEER SHALL DETERMINE THE
REACTIONS FROM THE SPECIFIED LIVE LOADS,
WIND/SEISMIC LOAD, AND ANY APPLICABLE AUXILIARY
LOADS.

3. CONCRETE AND/OR MASONRY ELEV. INDICATED ARE
PER THE AGREEMENT TO PURCHASE/CUSTOMER

\DRAWINGS RECEIVED FROM THE CONTRACTORIBU[LDEy

ﬁ\w\““waf’;;,f‘r’d ‘ Sod b P
REVIBIONS e R e e %y %, | ANGHOR ROD DRAWINGS
—— Jo RS THE ENGINEER OF REGORD. THE ~.<* 2 | TURNER BROTHERS, LLC./ W. B. MASON PORTLAND ME
1. ACTUAL BASE PLATE DIMENSIONS MAY BE SMALLER - L LS
THAN BASE PLATE DIMENSIONS SHOWN, A ENGINEER NAWED AND CHIEF BUILDINGS /] 2/ { e = | PORTLAND, ME
mucm&;esgpml E OF THE ndE5% 1T Z | 2-BUILDING COMPLEX
PREE COMPON - Flaz
A DESIGNED BY CHIEF BUILDINGS. RS H EF? DRAWN | CHECK ORDER NO. Ad
:E\US(’,- S8 ;a -
St G [BURDINGS L. 1A C095226
Jo £ PO  awsanar! 17.90V-09 | 17-NOV-09 Ad




0.375 =—— ._uu./
. ; : 34 2@30 | 16
10* PURLINS g P 40" g 3-g* =
e 10@2-10 - z S 8 g
X i o (=] e - ('
| = @ s "‘ < o
= 3 x o e [ A1 .
(=] e o. % R —_
a8 o B - j’—\- -+ T | ] /
] 5 'T
3 js L 4> %
& | —— c
T L se \CS1/ %
o B ®
A » Z
FB101@7' ——I - g 5 '/
- 0] m &
5 . S 5| ze g s
- 2 Bi 5| &% 5
0 <o < /
5k Ss | i -
2 .| 133 § = ¥ |
-] _] gk le— SHORT SIDE OF COLUMN L/
Bt — |58 b %
™
iy = 7 ) was
Lo
; IR /
~ 106'-0* ~ i 2
: — 10541 FINISHED FLOOR 1054"
; g e
%
102" el JoE-A °
e = - FINISHED FLOOR {SLOPES)
0" g4 19410 114
| I
DIAGONAL DIMENSION 586" OUT TO OUT OF COLUMNS
LEFT 60-111/8
RIGHT 59-9 1118 598" OUT OF STEEL TO EXIST. BL.
CROSS SECTION
COLUMN LINES: J, G5, &F :
REFERENCE NOTES 4 L
1. BOLTING RECOMMENDATIONS—ALL HIGH STRENGTH 4. TEMPORARY BRACING SHALL BE INTRODUCED SPLICE BOLT 1/ LE P =
BOLTS ARE A-325 WITH HEAVY HEX NUTS ANDARETO  WHEREVER NECESSARY TO TAKE CARE OF ALL LOADS SPLICE NO SIZE DEFTH WIDE FLANGE PURLIN
BE INSTALLED USING THE SNUG TIGHT METHOD IMPOSED UPON THE STRUCTURE DURING THE A 10 5 X112 110 (WFSE)
SPECIFIED IN THE 'SPECIFICATION FOR STRUCTURAL  ERECTION PROCESS. B 0 BE #1102 10 (1) 122" X 1 1/4" BOLT (4) 1/2° X 1 34" BOLTS
JOINTS USING ASTM A325 BOLTS', PUBLISHED BY ¢ 0 56 L1112 10 (EACH END) RAFTER BEAM
RCSC, DATED JUNE 30,2004. SNUG TIGHT CONDITION 5. ALL DIMENSIONS ARE IN INCHES UNLESS QTHERWISE = ; i e SPECIAL ANGLE
IS ATTAINED WITH A FEW IMPACTS OF AN IMPACT MARKED. L 1 (SPA)
WRENCH OR THE FULL EFFORT OF AN IRON WORKER
USING AN ORDINARY SPUD WRENCH TO BRING THE 6. ALL DRAWINGS ARE NOT TO SCALE.
PLIES INTO FIRM CONTACT. ;]
7. NOTE : * REFER TO GENERAL DETAILS AND SECTIONS
2. BOLT SPECIFICATIONS ~ ALL BOLTS SPECIFIED FOR ROOF SHEET OVERHANG AND SPLICE LAP
THROUGHOUT THESE DRAWINGS WILL BE HIGH DIMENSIONS.
STRENGTH BOLTS CONFORMING TO ASTM A325 BOLT SECTION m
SPECIFICATIONS SUBSTITUTION OF MILD STEEL BOLTS 6. FLANGE BRACES ARE REQUIRED ONLY ON ONE SIDE '
WILL NOT BE ALLOWED AND ANY FIELD SUBSTITUTION  OF FRAME, EXCEPT THOSE FLANGE BRACES THAT W
WILL VOID THE DESIGN WARRANTY. ARE PRECEDED WITH A (2)FB... ARE REQUIRED ON
BOTH SIDES OF THE FRAME. RO ALY
NUT SPECIFICATIONS — NUTS SPECIFIED
THROUGHOUT THESE DRAWINGS WILL BE HIGH 9. EAVE HEIGHT DIMENSION IS NOT ALWAYS TO THE TOP REVISIONS NOTWITHSTANDING THE ADJACENT CROSS SECTION
STRENGTH NUTS CONFORMING TO ASTM A184 GRADE  OF THE EAVE STRUT. DUE TO THERMAL BLOCK SEAL, NEITHER THE ENGINEER NAMED
2 OR 2H, OR ASTM AS63 GRADE C, D, OR DH NUT SITUATIONS, EAVE HEIGHT DIMENSION AND TOP GIRT A NOR CHIEF BUILDINGS IS ACTING TURNER BROTHERS, LLC./W. B. MASON PORTLAND ME
SPECIFICATIONS. SUBSTITUTION OF MILD STEEL NUTS  SPACE DIMENSION MAY BE TO THE INTERSECTION OF AS THE ENGINEER OF RECORD. THE
WILL NOT BE ALLOWED, AND ANY FIELD SUBSTITUTION  THE TOP OF THE PURLINS. REFER TO THE EAVE Egggﬁgsmﬂs ‘t'ﬁ %E:QB%IED'NGS PORTLAND, ME
WILL VOID THE DESIGN WARRANTY. DETAILS FOR MORE INFORMATION. 13
STRUCTURAL EERFORMANCE OF THE 2-BUILDING COMPLEX
3. ALL ELEVATION DIMENSIONS ARE TAKEN FROM 10. ALL WELDS HAVE A MINIMUM CHARPY V-NOTCH A PRE-ENGINEERED COMPONENTS
BOTTOM OF FRAME COLUMN BASE PLATE. REFERTO  TOUGHNESS OF 20 FT-LBF AT MINUS 20 DEGREES F. DESIGNED BY CHIEF BUILDINGS. CHIEFR DRAWN | cHecK ORDER O Ccs1
ANCHOR ROD DRAWING FOR BASE OF COLUMN BUILDINGS BLOJAL J8A
By A UGS mom C095226
FRAME:C095226A01 16-NOV-2009 13:55:23.25 T 17-NOV08 | 7-DEC09 CS




12

0.000 ==—=——""

142"

e 103-0"

[ tes
A R B
(] (2]
i A
x o &
a a 3
b
) o &
W A
2 2
-
" R FINISHED FLOOR . ==
9 3 ===
& & =
10° 250" CLEAR o | [
0-6"

06 270" OUT TO OUT OF COLUMNS
DIAGONAL DIMENSION I
LEFT 30578 e I00
RIGHT 0578
COLUMN LINES: 18
SPLIGE BOLT TABLE
SPLICE NO SiZE DEPTH
A B 58 X2 -0
REFERENGE NOTES B B Sa X2 -0
1. BOLTING RECOMMENDATIONS—ALL HIGH STRENGTH 4. TEMPORARY BRACING SHALL BE INTRODUCED
BOLTS ARE A-325 WITH HEAVY HEX NUTSANDARE TO  WHEREVER NECESSARY TO TAKE CARE OF ALL LOADS
BE INSTALLED USING THE SNUG TIGHT METHOD IMPOSED UPON THE STRUCTURE DURING THE
SPECIFIED IN THE 'SPECIFICATION FOR STRUCTURAL  ERECTION PROCESS.
JOINTS USING ASTM A325 BOLTS', PUBLISHED BY
RCSC, DATED JUNE 30,2004. SNUG TIGHT CONDITION 5. ALL DIMENSIONS ARE IN INCHES UNLESS OTHERWISE
IS ATTAINED WITH A FEW IMPACTS OF AN IMPACT MARKED.
WRENGH OR THE FULL EFFORT OF AN IRON WORKER
USING AN ORDINARY SPUD WRENCH TOBRING THE 6. ALL DRAWINGS ARE NOTTO SCALE.
PLIES INTO FIRM GONTACT.
7. NOTE : * REFER TO GENERAL DETAILS AND SEGTIONS
2. BOLT SPECIFICATIONS — ALL BOLTS SPECIFIED FOR ROOF SHEET OVERHANG AND SPLICE LAP
THROUGHOUT THESE DRAWINGS WILL BE HIGH DIMENSIONS.
STRENGTH BOLTS CONFORMING TO ASTM A325 BOLT
SPECIFICATIONS SUBSTITUTION OF MILD STEEL BOLTS 8. FLANGE BRACES ARE REQUIRED ONLY ON ONE SIDE
WILL NOT BE ALLOWED AND ANY FIELD SUBSTITUTION  OF FRAME, EXCEPT THOSE FLANGE BRACES THAT SRR,
WILL VOID THE DESIGN WARRANTY. ARE PRECEDED WITH A (2)FB... ARE REQUIRED ON RS L
BOTH SIDES OF THE FRAME. e OF 4, %0,
NUT SPECIFICATIONS ~ NUTS SPECIFIED P T P %
THROUGHOUT THESE DRAWINGS WILL BE HIGH 9. EAVE HEIGHT DIMENSION IS NOT ALWAYS TO THE TOP REVISIONS gwggﬁgn;:g T ics g h.\i\’ll NS CROSS SECTION
STRENGTH NUTS CONFORMING TOASTM A184 GRADE ~ OF THE EAVE STRUT. DUE TO THERMAL BLOCK g - VILLIAME 7 8 e
2 OR 2H, OR ASTM A563 GRADE C, D, OR DH NUT SITUATIONS, EAVE HEIGHT DIMENSION AND TOP GIRT A NOR CHIEF BUILDINGS IS ACTING 2 . gy - % | TURNER BROTHERS, LLC./W. B. MASON PORTLAND ME
SPECIFICATIONS. SUBSTITUTION OF MILD STEELNUTS ~ SPACE DIMENSION MAY BE TO THE INTERSECTION OF AS THE ENGINEER OF RECORD. THE = W rg!_ / f oz
WILL NOT BE ALLOWED, AND ANY FIELD SUBSTITUTION  THE TOP OF THE PURLINS. REFER TO THE EAVE Egg%fgam w&%%a%?ms = ‘#"u RESY 1 = | PORTLAND, ME
WILL VOID THE DESIGN WARRANTY. DETAILS FOR MORE INFORMATION. £1 =g - . oz
STRUCTURAL PERFORMANCEOF THE = 3 - MP dhzR9 /F = | 2-BUILDING COMPLEX
3. ALL ELEVATION DIMENSIONS ARE TAKEN FROM 10. ALL WELDS HAVE A MINIMUM CHARPY V-NOTCH @ PRE-ENGINEERED COMPONENTS T LY 2 s s DRAWN | CHECK ORDER NO
BOTTOM OF FRAME COLUMN BASE PLATE. REFERTO  TOUGHNESS OF 20 FT-LBF AT MINUS 20 DEGREES F. DESIGNED BY CHIEF BUILDINGS. EN % (’ CansE S N CHIEF : C8e
ANCHOR ROD DRAWING FOR BASE OF COLUMN A Gl Svmant ol BUILDINGS BLO/AL JSA
s DTN i of Diel #0.80x 2078
ELEVATION FRAME:COB5226AA1 12-NOV-200 16:60:17.86 Jo\ o /ONAL B i i S Trvovan | 7oecw | 099226 CS6



12
0.000

2 OR 2H, OR ASTM A563 GRADE C, D, OR DH NUT
SPECIFICATIONS. SUBSTITUTION OF MILD STEEL NUTS
WILL NOT BE ALLOWED, AND ANY FIELD SUBSTITUTION
WILL VOID THE DESIGN WARRANTY.

SITUATIONS, EAVE HEIGHT DIMENSION AND TOP GIRT
SPACE DIMENSION MAY BE TO THE INTERSECTION OF
THE TOP OF THE PURLINS. REFERTO THE EAVE
DETAILS FOR MORE INFORMATICN.

odicdicgice

NOR CHIEF BUILDINGS IS ACTING

AS THE ENGINEER OF RECORD. THE
ENGINEER NAMED AND CHIEF BUILDING
RESPONSIBILITY IS LIMITED TO THE

| I— i
A B B
e g 3
a o 3]
o Al
kS kS
Q@ | -
N\_ FINSHED FLOGR I
% 5
o 3
10" 26-0" CLEAR 14
i T
05" 270" OUT TO OUT OF COLUMNS
DIAGONAL DIMENSION -
LEFT 30.3 518 20 Gl IO L.
RIGHT 30-3 518
COLUMN LINES: 14.9
SPLICE BOLT TABLE
SPLICE NO SIZE DEPTH
A 8 SBX2 10
REFERENCE NOTES . : e 3
1. BOLTING RECOMMENDATIONS—ALL HIGH STRENGTH 4. TEMPORARY BRACING SHALL BE INTRODUCED
BOLTS ARE A.325 WITH HEAVY HEX NUTS ANDARETO  WHEREVER NECESSARY TO TAKE CARE OF ALL LOADS
BE INSTALLED USING THE SNUG TIGHT METHOD IMPOSED UPON THE STRUCTURE DURING THE
SPECIFIED IN THE 'SPECIFICATION FOR STRUGTURAL  ERECTION PROCESS.
JOINTS LISING ASTM A326 BOLTS', PUBLISHED BY
RCSC. DATED JUNE 30,2004. SNUG TIGHT CONDITION 5. ALL DIMENSIONS ARE IN INCHES UNLESS OTHERWISE
IS ATTAINED WITH A FEW IMPACTS OF AN IMPACT MARKED.
WRENCH OR THE FULL EFFORT OF AN IRON WORKER
USING AN ORDINARY SPUDWRENCHTOBRING THE 6. ALL DRAWINGS ARE NOT TO SCALE.
PLIES INTO FIRM GONTACT.
 NOTE : * REFER TO GENERAL DETAILS AND SECTIONS
2. BOLT SPECIFICATIONS — ALL BOLTS SPECIFIED FOR ROOF SHEET OVERHANG AND SPLICE LAP
THROUGHOUT THESE DRAWINGS WILL BE HIGH DIMENSIONS,
STRENGTH BOLTS GONFORMING TO ASTM A325 BOLT
SPECIFICATIONS SUBSTITUTION OF MILD STEEL BOLTS B. FLANGE BRACES ARE REQUIRED ONLY ON ONE SIDE
WILL NOT BE ALLOWED AND ANY FIELD SUBSTITUTION  OF FRAME, EXCEPT THOSE FLANGE BRACES THAT
WILL VOID THE DESIGN WARRANTY. ARE PRECEDED WITH A (2)FB... ARE REQUIRED ON U
BOTH SIDES OF THE FRAME. e (M,
NUT SPECIFICATIONS - NUTS SPECIFIED 2 OF 4. ',
THROUGHOUT THESE DRAWINGS WILL BE HIGH . EAVE HEIGHT DIMENSION IS NOT ALWAYS TO THE TOP NOTYATHSTANDING THEADVAGENT g B reer et 4
STRENGTH NUTS CONFORMING TOASTMA154 GRADE  OF THE EAVE STRUT. DUE TO THERMAL BLOCK REVISIONS SEAL NEITHER THE ENGINEER NAMED A CROSS SECTION

TURNER BROTHERS, LLC./W. B. MASON PORTLAND ME

PORTLAND, ME

uC PERFORMANCE OF THE (2 : -
3. ALL ELEVATION DIMENSIONS ARE TAKEN FROM 10, ALL WELDS HAVE A MINIMUM CHARPY V-NOTCH T ot No-B230 " 2-BUILDING COMPLEX
BOTTOM OF FRAME COLUMN BASE PLATE. REFERTO ~ TOUGHNESS OF 20 FT-LBF AT MINUS 20 DEGREESF. DESIGNED EY CHIEF BUILDINGS. o 4L c HIE F DRAWN | CHECK ORDER NO. CS3
ANCHOR ROD DRAWING FOR BASE OF COLUMN CENSEYS & = .
e S - e (el SRS BUILDINGS BLO/AL JSA
3 o # dsion of Ol lnheprion . 0\ P00 0095226
FRAME:CO95226AC1 13-NOV-2009 08:43:25.85 Onal BY W Fuanmse.e {7.NOV-08 | 7-DEC-09 CS6

]



<1

a

—

— — — — G — f— (—— My mrn S mm— e m— — m—

124"

42"

Lo

<_””/_7‘E‘{%~_“"_ ““mr‘\“
EAVE STRUT / =< = ﬁ EAVE STRUT
FRAME COLUMN / \ FRAME COLUMN
XBC-58 o T XBC-58
(6) 172° X 1 1/4* BOLTS / \ (8)1/2* X 1 1/4" BOLTS
PORTAL COLUMN ﬁl_:‘ '=_]Tl PORTAL COLUMN
U ¥ 6:1
NOTE: REFER TO AS— P NOTE: REFER TO
G.D.'S FOR EAVE ¢ G.D.'S FOR EAVE
STRUT CONNECTION. STRUT CONNECTION.
PORTAL FRAME TO MAIN PORTAL FRAME TO MAIN
FRAME CONNECTION FRAME CONNECTION

&
b

i

[ A

7%

PORTAL RAFTER -/

aicid ] ] \_ PORTAL RAFTER [
280" (2) 112" X 1 1/4* BOLTS (TYP) {2) 142" X 1 1/4" BOLTS (TYR.)
' HEADER HEADER ‘v
SUB JAMB JAMB
PORTAL FRAME ELEVATION SUB JAMB TO SuB JAMB TO
COL. LINE 18 RAFTER WITH HEADER RAFTER WITH HEADER
NOTE: REFER TO G.D.'S FOR GIRT NOTE: REFER TO G.D.'S FOR GIRT
————=  TOCOLUMN CONNECTION. TO GOLUMN CONNECTION.
FRAME COLUMN FRAME COLUMN
GIRT PORTAL COLUMN PORTAL COLUMN CGIRT
(2) #12- 14 X 1 14" GIRT ANGLE GIRT ANGLE @) #12- 14 X 114"
{XGA-5) (XGA-5)
(2)#10-16X 1" JAMB
PANCAKE HEAD /
j ' ] 000
I
< 0 0 <>
in { in I l— -
_— 111 & LS X
2 6" 5 (2)#10- 16 X 1" g
RO PANCAKE HEAD
PORTAL FRAME DETAIL JAMB PORTAL FRAME DETAIL
AT LEFT JAMB AT RIGHT JAMB
‘“HHE:”F
’J‘ ; OF /f/ﬁ 3”,‘%
..... a
REVISIONS NOTWITHSTANDING THE ADJACENT Sl & ) ’ e, CROSS SECTIONS
SEAL, NEITHER THE ENGINEER NAMED -~ Ca V\: e
A NOR CHIEF BUILDINGS IS ACTING [ =, TURNER BROTHERS, LLC./W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD. THE = i . g Jé &=
ENGINEER NAMED AND CHIEF BUILDINGS \,‘r’ﬁ £ PORTLAND, ME
A RESPONSIBILITY IS UMTED TOTHE = ﬂ : .
STRUCTURAL PERFORMANCE OFTHE - 7 %3 g ¥ [:; = 2-BUILDING COMPLEX
E-ENGINEERED COMPONI = i 2 s
A g:snGNEt:‘ BY CHIEF BUILDINGS. % Q»}\' : -{ AOENEEY. =23 b= lEF? eAwN | SR JRERN cs4
LR é;'. Fe b (_.} \\Q‘ BUILDINGS /1 AL JSA cO9 5226
A Ye,, 2 TONAL BV 1ol bos ke oo 2.DEC0 | 7-DEC-09 csB
T e ne . oen BYT




HI-SIDE EAVE ~/
T} T )
/ i 5
| i I FRAME COLUMN / " g \ FRAME COLUMN
I x%ci-sa T~ XBC-58
(6) 172" X 1 1/4" BOLTS (6) 1/2* X 1 1/4" BOLTS
g : PORTAL GOLUMN ,;=_1=, i =—1[=,\ PORTAL COLUMN
L 6 &
I I ——— —3
I i ¢ ¢
|
i i PORTAL FRAME TO MAIN PORTAL FRAME TO MAIN
H | FRAME CONNECTION FRAME CONNECTION
| I
I |
| |
! |
i g |
| ?;] 7 1
| |
T T
l 28'-0° ‘
= 1
PORTAL FRAME ELEVATION
COL.LINE 149
- ‘.‘\‘:’E e Fiwr-p_”"ﬁ
REVISIONS NOTWITHSTANDING THE ADJACENT ™, UL t/{/i‘,; 7 CROSS SECTIONS
SEAL, NEITHER THE ENGINEER NAMED > rn\ . . %\ >,
A :gl_%rséu:: ;:&DéuggéiggngmE ,: T AR AR 3 TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
A ENGINEER NAMED AND CHIEF BUILDINGS ¢ -‘ ‘;L 0 .&l r L PORTLAND, ME
RESPONSIBILITY IS LMITEDTOTHE ~  ° 'Nites 2
g@u&g% sgg;c%i'm%%)gmz 0% No.8230 ¢ !i“.}. = 2-BUILDING COMPLEX
@ DESIGNED BY CHIEF BUILDINGS. '::;’ Do (’ i 5_{1 :: HlEE% DRAWN | CHECK ORDER NO. CsS5
A " R CENTE G BUILDINGS ;L. | M| £005226
Y S/ Om A4 ?:\ KN cawomnoN 2.DEC-09 | 7-DECD9 CS



*SEE CROSS SECTION

*SEE CROSS SECTION

BE LOOSENED TO ALIGN ‘MTH THE PURLIN AND

*SEE CROSS SECT,

FOR DIMENSIO

N

(2)1/2" X 1 1A{BOLTS

FOR DIMENSIOQ

PURLIN/GIRT
RAFTER/COLUMN —\\

lisptabald 112° X 1 11" ooy CONNECTIONS AND RETIGHTENED.
*SEE CROSS SECTION o TS *SEE CROSS SECTIO}
FOR DIMENSION
PURLIN/GIRT
RAFTER/COLUMN - RAFTER/COLUN RAFTER/COLGYN
RAFTER/COLU
S % <
FLANGE BRACE FLANGE BRACE
FLANGE BRACE FLANGE AB (XSST-1) TAB (XSST-1)
1] n BOL
1/2" X 1 1/4" BOLTS Eﬁcﬁ :EN P;FCSAL)
UNLESS NOTED 1/2" X 1 114" BOWS 112" X 1 1/4" BRLTS
UNLESS NOTED BRACE)
FLANGE BRACE FLANGE BRACE FLANGE BRACE FLANGE BRACE FLANGE BRACE
"1-1 or 1 1S CONNECTION" "4-1 CONNECTION" "41-4 CONNECTION" "4-4 CONNECTION" v1-7, 1-8, 1-8, 2-7, 2-8, or 2-9 CONNECTION"
w FIELD NOTE: FLANGE BRACE WILL ARRIVE AS
AN ASSEMBLED PART. THIS BOLT MAY HAVE TO PURLIN/GIRT
BE LOOSENED TO ALIGN WITH THE PURLIN AND
RAFTRR CONNECTIONS AND RETIGHTENED. *SEE CROSS SECTION *SEE CROSS SECTION

RAFTER/COLUMN \

See flange brace mark on Cross Section (CSx
pages) for nominal spacing from center line of
frame.

PURLIN/GIRT

™
®
g\
m
[ 9
—
o

FLANGE BRACE

RAFTER/COLUMN

RAFTER/COL ‘51:— = AT
FTER/COLU
RAFTER/COLU
| z" { | =
A ; 55 O
= _ ==
/7' P FLANGE FLANGE
o BRACE BRACE
FLANGEBRACE REFER TO BUILDING CROSS SECTION
GE BRACE 68 FOR ACTUAL QUANTITY OF FLANGE
OTED (1 34 XNGOLT BRACES REQUIRED.
(1) 314" X 2" (REFER TO FLANG
BRACE)
TYPICAL FLANGE BRACE TYPICAL FLANGE BRACE
FLANGE BRACE FLANGE BRACE FLANGE BRACE
"5.7 5.8, or 5-9 CONNECTION" 4.2 or 2-2 CONNECTION" "5 9 CONNECTION" BOTH SIDES CONNECTION ONE SIDE CONNECTION
1. (2) = Quantity of flange brace NOTE:
2 FB-XXX = Part mark o SEE BUILDING CROSS SECTION FOR FLANGE BRACE PIECE MARKS.
3. 3= nominal punch from centerline of frame

FIELD BEND FLANGE BRACES AS REQUIRED TO MATCH HOLES IN PURLINS AND
GIRTS.

SEE ROOF FRAMING PLAN FOR PURLIN LAP DIMENSION.
FILL ALL HOLES IN THE FLANGE BRACE WITH BOLTS.

FOR PURLIN TO FRAME RAFTER CONNECTION AND PURLIN LAP CONNECTION
REFER TO PURLIN CONNECTION DETAILS.

IF FLANGE BRACE CONNECTION OCCURS WITHIN THE PURLIN LAP, INSTALL

FLANGE EBACE BEFORE TIGHTENING PURLIN BOLTS.

. -‘13335'##33

2p

REVISIONS

odid!cdiog

NOTWITHSTANDING THE ADJACENT
SEAL, NEITHER THE ENGINEER NAMED
NOR CHIEF BUILDINGS IS ACTING

AS THE ENGINEER OF RECORD. THE
ENGINEER NAMED AND CHIEF BUILDINGS -.
RESPONSIBILITY |S LIMITED TO THE

~# = | PORTLAND, ME

2, FLANGE BRACE CONNECTIONS

PROCGD:
TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

STRUCTURAL PERFDRUIANCE OF THE L 2-BUILDING COMPLEX
* e o i DN _\:j] ' CHlEF$ DRAWN | CHECK ORDERNO.  |CS6
KEY PLAN RELEASED | 11-04-09 "c%\ S [BUILDINGS, oo A% 0005226
SUPERSEDES o - " 24-NOV-09 | 9-DEC09 CSE




Coliateral Loads

This building has been designed for a collateral load of 5 psf. The tolal applied

loads due to ceiling panels, ducts, sprinkler distribution lines, electrical
aquipment, conduit, fireproofing, other piping and mechanical loads, etc.,

cannot exceed this collateral load. In no case shall the total uniform collateral ol
load on an individual roof member exceed the product of 5 psf times the Zf——-
spacing of the supparting member. Nor shall any individual point load or —~
summation of point loads on any ona raof member exceed the product of 5 psf LEDGE OF PURLIN
times the member spacing times half the member length. In addition, no
Individual paint load on a puriin can excesd 100 Ibs. All loads suspended from ‘r@
purlins shall have the load intraduced through the web and not the flange of the 0/ 987 BL TO BL
puriin. Hangers cannot be supported from the edge of flanges or through holes
in the fianges of the puriins, Deslgn of hangers and their attachments are not ats0” | 1341 280" 2807 | 28 i
by Chief Bylidings. Chief Buildings s NOT responsible for lateral or longltudinal ] — v o'.n%*'
bracing of suspended members subjected to horizontal servica, seismic, o // ; .
Wadiasg 7 ‘3_3 \ EXISTING BUILDING —EDGE OF PURLIN
Chief Buildings neither assumas nor accepts Bny responsibility for the design m
of hangers, bracing of suspended membars, transversa support members, nor W s RF4 i P / /
connections to rocf puriins. Itia the responsibllity of the Buyer/Contractor = /V / // // // / // //WFSB-Q// / // // //| 1 / _/41:58—9// /__// // // WFSB-15 / /_/ // / \{
and/or End Owner to have this design performed by a regisiered design T — P8 (TYP) S e ~ ~
s N = : = | : || :
HANGER AT INDIVIDUAL ZEE PURLIN P WFSBS L WPSB9 [ L — WESE-1S — '
PURLIN N
HANGER ConeoTIN F WFSB-6 , | PomP) "’: WFSB-9 k } | k WFSB-g F | WFSB-14 }E JlL
THE WEB = == — SE == —
P8 ) — [ L L )\
[ weses | (WPI 1 wesee i | N weset2 [~ | WESB-15 SPA-100
ARENGY oY Crer BURDNGS = = = = = = == T
PT(TYP) —~f [ [ N oS £
MAXIMUM INDAVIDLLAL i [ weses WFSB-8 _ | wrsBa X _ WESBA5 _ fi
POINTLOAD = — = — 7~ o -
HANGER BETWEEN ZEE PURLINS L C o P6 (TYP.) —{ L Ve NI 'é L
STRUTA AND CONNECTIONS wesg3 @ WFSB-9 _ i L, WESBU N WESB-14 - it
PURLN _#___Ta:zwwmm ! SO . - 44\ || esavP) —f r !‘ Pl L R | [ SPA100 N (33
PR \RF3/ WFSB2 RF3 WFSBS i g WESB-10 : g WFSB-14 I \RF3/
MMM REACTION \ g | e ReacToN E—— S — T i Z T SRRR 4% — N i == — N '
- "™ spA-100 r > XBC3(TYP) [ P4(TYP.) —L r 7 F N J ] L C SPA-100
:::é;%%rufu ;ﬂg;mrav i _ WFSB-1 o WFSB-8 _— ol WESB-8 __ WFSB-13 - AL
a ~ -
@ /<\- spa100f 95\ |P1(OYPUN) P2 (TYP UN.) P2 (TYP UN.) P3 (TYP U.N.) SPA-100
Collateral Loads ! RF4 .y —
— . . @ \RF4/ [ ~ . # |
This building has been designed for a collateral load of 5 psf. The total applied o |
loads dus to cailing panels, ducts, sprinkler distribution lines, electrical 2 %4 ] i ~ § - i |i§
equipment, canduit, fireproafing, other piping and mechanical loads, etc., w ~ s
cannot exceed this collateral load, In no case shall the total uniform callateral L i,
1nad on an individual roof member exceed the product of 5 psf times the - ~
gpacing of the supporting member. Nor shall any individual point load or @
summation of point loads on any one raof member exceed the product of 5 psf -~ ~ -
times the member spacing times half the member length. In addition, no w — < RF3
individual point load on a purlin can excesd 300 Ibs. All loads suspended from | < SRRR 304 . [l N
purling ghall have the load introducad through the web and not the flange of the ; i <
purlin. Hangers cannot be supported from the edge of flanges. Maximum 9/16" | - -
diameter hales can be drilled in the flangas of the WF puriins for support clips ‘
(nat by Chiaf Buildings.) Design of hangers and their attachments are not by < = = Sy - =
Chief Buildings. Chief Buildings is NOT responsible for |ateral or longitudinal ﬁi % ~ - $
bracing of suspended membaers subjected to horizontal service, seismic, or i /(- g . )\ -
wind|pecingi FB 2(TYP.UN) ; . Sy P ' FB2 (TYP. UN) Jf%
Chief Buildings neither assumes nor accepts any responsibility for the design T I - ~ I
of hangers, bracing of suspended members, transverse support members, nor | - ~ |
connections to roof purlins. it is the responsibility of the Buyer/Contractor t Fd
andor End Owner ta have this design performed by a registered design } - ~ {
professional. 2 = = g
HANGER AT INDIVIDUAL ZEE PURLIN z L 5RRR 380 —- J4 2
PURLIN ES1 ES2 ES2 ES3
T T B T B T B T B T T B T B T
HoLes wusT Be LI & 3ad |3 3ad |33 313 | 313
et
™ HANGER AND CONNECTICN TO FURUN “NOTE: ES2 & ERB-1 HAVE A “CHIEF" LOGO STICKER LOWSIDE
ARENOT B GHEF BULANGS ERECT THE MEMBERS SO THE STICKER IS
MAXINUM INDVIDUAL TOWARDS THE OUTSIDE OF THE BUILDING. ROOF FRAMING PLAN
POINT LOAD
SRR R
HANGER BETWEEN ZEE PURLINS Wt 4 i"h
STRUTS AND CONNECTIONS PRI v Y ] 7
PURLIN e REFERENCE NOTES REVISIONS NOTWITHSTANDING THE ADJACENT A0 B My f”aq, ‘e, ROOF FRAMING DRAWINGS
S SEAL, NEITHER THE ENGINEERNAMED ~ ~" ™' .° W
PLRLN 1. ALL PURLINS ATTACH TO FRAMING USING "STD" A NOR CHIEF BUILDINGS p'zseggnngﬁmﬁ = s i SO TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
MACMUM REACTION \ ATTACHMENT UNLESS NOTED. REFERTO GD AS THE ENGINEER OF . ST 0. g . =
ATPURUN - ENGINEER NAMED AND CHIEF BUILDINGS~ 74 + 2L ;o PORTLAND, ME
NAXIMUM REAGTION MALION SeCTION G FoRmNTLOCAT 0, @ RESPONSIBILITY iS LIMITED TO THE - : VAT : =
TS JENOT Y AT PR 2T = TOP SAG ANGLE. STRUCTURAL PERFORMANCE OF THE  © -, f"“”"%% el 2-BUILDING COMPLEX
CHIEF BULDINGS “B" = BOTTOM SAG ANGLE. PRE-ENGINEERED COMPONENTS ' | Tl Gl > f'_i v
Jo DESIGNED BY CHIEF BUILDINGS. ¢ S 1ICH =sE DRAWN | CHECK PROERHO. RF1
N ACENSEY LS BUILDINGS ALIBLO | JSA/AL C095226
Ve e i ' ~ 2 i " PO BOX 2078
A o RN - o diuod Qiltstarios bt copoisinoel 18 NOV-03 | $-DEC-09 RE6
TV F T
%




163"

e

i
EDGE OF PURLIN -} 1333

?

98'-7° BL TO BL

?

280"

28

28-8"

£ 4

.
12" ?

o'_oiu

e oo

—EDGE OF PURLIN

& e £ /
i IS i ///t’//////////////////////////////////////////// YL L L Lo
1l P F | E | E P | P F 1
T F 7 1 S I - IR |
& l [ | £ F | [
a £ L | £ L £ 2
. - — - e B S ——
X L [ o
= — = — e e
C [ l ; c £ » C
o — =D e L e —
. \RFS, F L 3 [ r C
: ] ; ~ — _ - - Y
a x'a:t':-1 mey N1/ P
8 I SA3
o (TYP.)
3 |
[ !
}
7 % & 1%
~Y N f T e
/e ) W Y N
XKBCA(TYP) " 1 g T B T 3l B 2| 3 BT B T 3] e a3a T B T B T
3-1;‘ 313 3'-13 3'-13 3-13 3-1i
LOWSI
PURLIN BRACING PLAN
\ “””:”ﬁ”-’n
REVISIONS NOTWITHSTANDING THE ADJACENT o ‘\g‘ L ) ROOF FRAMING DRAWINGS
T —_—n SEAL, NEITHER THE ENGINEER NAMED > c:‘ N ((\‘;L
A ﬁg‘iﬁgif.fe‘iﬂéﬂ“gféigm%e 3 T‘HLL gt e TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
e RCHMENT UNCESS NOTED. REFERTO GD MANUAL A ENGINCER RANED AND CHEF BULDINGE: AP A4L 5% | PORTLAND, ME
SECTION 4 FOR BOLT LOCATIONS. STRUCTURAL PERFORMANCEOF THE - O 2,”"'/552510 s ; 2-BUILDING COMPLEX
Lt e O o P eSIGNED B CHEF BULDINGS. ;:‘A:‘\ OCEi\]S\”p\'\\é‘ZfJ\:; ncml!;!.!'EF? Zn;\.::; ;}:T:_ ORDER NO. RF2
N8, e i RN wdhdsiaol Ol takemrion b, 0, SO0 0095226
A i 0./’0:\3, AL DRI ™| 18-NOV-09 | 9-DEC09 RF8



EAVE STRUT
(4) 5/8" X 1 1/2" BOLTS w/

(4) 5/8" HARD WASHERS
AT C-SECTION SIDE

FRAME COLUMN

section [ 11
RF1

—

PURLIN

r"‘
l\
7

1-2"

(2) 12" X 1 1/14" BOLTS
RAFTER BEAM

ol

WIDE FLANGE PURLIN
(WFSB)
(2) 172" X 1 3/4" BOLTS
RAFTER BEAM
SPECIAL ANGLE
o (SPA)

| (1) 172" X 1 1/4" BOLT

(EACH END)

*NOTE: REFER TO PG. RF1 FOR
PIECE MARKS AND LOCATIONS
4.3 "\ OF SPECIAL ANGLE (SPA).

RF1

SECTION

n / WIDE FLANGE PURLIN
(WFSB)
\ (4) 172" X 1 1/4* BOLTS **
RAFTER BEAM
(o]

(1) 1/2" X 1 1/4" BOLT

LIP - LIP EAVE STRUT
(212" X1"8.T.8.

LIP-LIP EAVE STRUT

@) 12" X 1" S.T.8.
SPECIAL PLATE (SP-1)
(2) 172 X 1 1/4" BOLTS

PURLIN STRUT
XBC-30
(4) 172" X 1 1/4" BOLTS

/ PURLIN
.

XBC-30

(EACH END) = =|= = - (4) 12" X 1 1/4" BOLTS
SPECIAL ANGLE RAFTE PURLIN
(SPA-") I e -
-7 V
*NOTE: REFER TO PG.CS1FOR * NOTE: USE 1/2" X 1 3/4" BOLTS
PIECE MARKS AND LOCATIONS WHERE RAFTER FLANGE THICKNESS
OF SPECIAL ANGLE (SPA). IS 1/2*
on /44 oETaL [ A petaL (B
W NOTE: TYPICAL AT LINES G.5 &F @ @
REVISIONS NOTWITHSTANDING THE ADJACENT EAVE & GABLE SECTIONS
SEAL, NEITHER THE ENGINEER NAMED
Fo\ NOR CHIEF BUILDINGS IS ACTING TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD. THE
ENGINEER NAMED AND CHIEF BUILDINGS PORTLAND, ME
A RESPONSIBILITY IS LMITED TO THE
STRUCTURAL PERFORMANCE OF THE 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS
A DESIGNED BY CHIEF BUILDINGS. CHI EE% DRAWN | CHECK ORDER NO. RF3
BUILDINGS , /1" | ALBLO | JSA/AL
Jo |ammupR . aoiennre] 18- NOV-09 | $-DEC-09 C0O95226 RFS




¢

EwW

-

N

\\r-\a\\Q )
SN

WIDE FLANGE PURLIN (WFSB)
(4) 1/2" X1 1/4" BOLTS
XBC-3

BRACING STRUT
/ T yd

A\

WIDE FLANGE PURLIN (WFSB)

(6) 1/2" X 1 1/4" BOLTS
XBC-3 (BOTH SIDES)
BRACING STRUT

o /
z
D ——
A 2
= ®
| @ i e - b
| 2 R
z : eqhe
i & e .
L % o oy |
-
LIP - LIP EAVE STRUT |
() 12" X 1"STS. / |
RAFTER BEAM I
vl
e
/ ﬁ
/7
DETAIL m CTION
&) Y
PURLIN
WIDE FLANGE PURLIN (WFSB) (6) 172" X 1 1/4" BOLTS
(4) 12" X 1 1/4" BOLTS XBC-30 (BOTH SIDES)
XBC-52 BRACING STRUT
BRACING STRUT

WIDE FLANGE PURLIN (WFSB)
(4) 112" X 1 1/4" BOLTS
FRAME COLUMN
i
SECTION .
agliﬂiﬁigi
w m\\({:\(\r’ OF /T,: 1,
= v NP v
REVISIONS NOTWITHSTANDING THE ADJACENT LA EAVE & GABLE SECTIONS

odicd|cdice

SEAL, NEITHER THE ENGINEER NAMED
NOR CHIEF BUILDINGS IS ACTING
AS THE ENGINEER OF RECORD. THE

-
T %
ENGINEER NAMED AND CHIEF BUILDINGS: -

RESPONSIBILITY IS UMITED TO THE
STRUCTURAL PERFORMANCE OF THE

PRE-ENGINEERED COMPONENTS
DESIGNED BY CHIEF BUILDINGS. HlEE? DRAWN CHECK ORDER NO. RF4
BUILDINGS BLO JSA AL
B e LR T eooe | ©089226 | 4o

TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

PORTLAND, ME

2-BUILDING COMPLEX

o Ty




SEAL, NEITHER THE ENGINEER NAMED
NOR CHIEF BUILDINGS IS ACTING
AS THE ENGINEER OF RECORD. THE

L'
?@’Y RN
ENGINEER NAMED AND CHIEF BUILDINGS = - =

-
ey

/ WIDE FLANGE PURLIN (WFSB)
) PURLIN BRACING STRUT PURLIN BRACING STRUT
s / XBC-3 XBC-3
o0 o . /A-A (&) 172" X 1 1/4" BOLTS (4) 1/2" X 1 1/4" BOLTS
7 RF5 / BOTTOM ROW SAG ANGLE
2,/
£ 1 W) S B ———— l
/ 2/ : j]
=] ) I o] PRSI | -
m -
an / 1NN - J
g 71 PURLIN AN = 4.
/ o 12" X 1 1/4"BOLTS Y 3
x . @ WIDE FLANGE PURLIN (WFSB) /
/ RAFTER BEAM XBC-1 W/ (1) 12" X 1 1/4" BOLT (1) 5H5° X 34" BOLT y o
e 5/6" X 3/4" BOLT (1) 1/2" X 1 1/4* BOLT |*—‘1
/ BOTTOM ROW SAG ANGLE L)
DETAIL ﬂ SECTION m
\RF2/ \Bra
"\‘%Eitiﬂgﬂ,’{’
REVISIONS NOTWITHSTANDING THE ADJACENT 0\ A V" o M/ﬁ' "’ EAVE & GABLE SECTIONS

TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

PORTLAND, ME

A RESPONSIBILITY IS LIMITED TO THE p /SR8
STRUCTURAL PERFORMANCEOFTHE 2 ., = (7050 o 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS oy Mo, 823 Fabay
Jo DESIGNED BY CHIEF BUILDINGS. . ’33 - - s CHIER DRAWN | CHECK ORDER NO. RFS
TN NOENSTI S S BUILDINGS BLO | JSA/AL
T e ENDE T e .
A Ly, e AN | SeeEAmES  oumomio g 13.NOV-09 | 9DEC-09 C095226 RE6




NOTE:FIELD BEND FLAT STRAP
FROM TOP OF PURLINS TO TOP OF
FRAME RAFTER. BOLT STRAPTO
FRAME BEFORE SCREWING TO
PURLIN OR EAVE STRUT.

3" MAX,

{4) #10 - 16 X 1 PANCAKE HEAD

NOTE:FIELD BEND FLAT STRAP
FROM TOP OF PURLINS TO TOF OF
FRAME RAFTER. BOLT STRAP TO
FRAME BEFORE SCREWING TO
PURLIN OR EAVE STRUT.

FRAME RAFTER

/ PURLIN

NOTE:FIELD BEND FLAT STRAP
FROM TOP OF PURLINS TO TOP OF
FRAME RAFTER. BOLT STRAP TO
FRAME BEFORE SCREWING TO
PURLIN OR EAVE STRUT.

3" MAX

(4) #10 - 16 - 1 PANCAKE HEAD

)

NOTE:FIELD BEND FLAT STRAP
FROM TOP OF PURLINS TO TOP OF
FRAME RAFTER. BOLT STRAPTO
FRAME BEFORE SCREWING TO
PURLIN OR EAVE STRUT.

FRAME RAFTER \1

PURLIN |
AL

|

i

< |

] . j\ =(1)1/2%¢1 1/4" BOLT
] (\ \ Lk l| N %
I PURLIN ll =(1y1r2' g 114" BOLT
1 SAG ANGLE BRACE |
I S |
TOP ROW
. o ¥ i fAG WYGLE BRACE [ sacANGL '
[ Iﬁﬂj |] } SAB" Il | SAG ANGLE BRACE
e TOPR w G ANGLE BRACE 1l SAE
I SAG ANG
L) FRAME I
|| PURLIN COLUMN
l[ P IN '\
UA TOP ROW l B B S:(?ih?glg PURLIN
SAG ANGLE |
=(1)1/2" X 1 1/4" BOLT | e i EL'] Jr
Q
| PURLIN
g EAVE l ll 1 | S **(1)1/2" X 1 1/4" BOLT /_
| STRUT (4)#10-16 X1 | ]
! : : EAVE STRUT —, " PANCAKE HEAD I I ' T
J I S N i N \
LA p
il | | \ PURLIN (4) #10 - 16 X 1 PANCAKE HEAD
@ FRAME RAFTER
3" MAX
FLAT STRAP CONNECTION FLAT STRAP CONNECTION FLAT STRAP CONNECTION FLAT STRAP CONNECTION
ENDING AT COLUMN G105 ENDING AT EAVE STRUT aaica ENDING AT FRAME RAFTER s ENDING AT PURLIN o
SAG ANGLE BRACE
SAB-* SAG ANGLE BRACE
4 (1)1/2" X 1 1/4" BOLT - SAB-*
J (EACH STRAP)
2 *(1)1/2" X 1 1/4" BOLT
& EACH STRAP
PURLIN | XHRS-1 PURLIN . )
T L=
Nw (4)172* X 1 1/4" BOLT (TYP.) OR
(4)1/2" X 1 3/4" BOLTS REQ'D WITH
SIDE VIEW OF FLAT WITH SPACER FLANGES OVER 3/8" THICK SIDE VIEWAQR FLAT STRAP RAFTER BEAM OR COLUMN
\\ = o O F A w ,’; .
NOTE: REVISIONS NOTWITHSTANDING THE ADJACENT g YT e i NG :
O N T THE ENGINEER Ngmm :u e - ";, FLAT STRAP SAG ANGLE BRACING INSTALLATION
1. THE DETAILS ON THIS PAGE OVERRIDE DETAILS IN THE NOR CHIEF BUILDINGS IS ACTI S ’
JIEDETALS OH THE PAge A N e F o L2 TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
2. SAGANGLE BRACING IS TO BE PLACED ON THE TOP OF ENGINEER NAMED AND CHIEF BULDINGS - &Lg = | PORTLAND, ME
THE PURLINS AND BENT DOWN TO THE RAFTERICOLUMN A RESPONSIBILITY IS LIMITED TO THE - : = L
FLANGE. STRUCTURAL PERFORMANCE OF THE o F\Fn !’ {-’ : F‘ = | 2-BUILDING COMPLEX
3, TERMINATION OF THE STRAP AT THE PURLINS IS TO BE A PRE-ENGINEERED COMPONENTS “.‘ o L;U =
WITHIN 3" OF THE TOP ROW SAG ANGLE. : DESIGNED BY CHIEF BUILDINGS. : e o 2 IGIHIER DEAGN | GeECK BROERAG RF6
g- 'RﬁFER TO ROOF BT%ACING PLAN FOR LOCATIONS AND CALLOUTS. RELEASED 02-13-07 TENST o> .~ |BUILDINGS ' A 48A
i e, » " oo |RELEASED _ |02430°7) » 0000001 gy N v : P.0.B0x 20T
2 X 1 3/4" BOLTS MAY BE REQUIRED AT FLANGES THAT ARE 518" AND THICKER. = oo em e e ™[ 02.14-06 A Sonar B oo SEZE el oy nov08 | SDEC C095226 RF6
L ERT] 1.“"\“ e




—®

7
_& SP-3 & ST-3
X3 £ rd
r —r/(/ 2 /4 gl
= A 5D panams %
S0 S S S A L L LA L /////////////]
(6) LHET-1 — i B
I
l
|
|
|
¥
@
|\&S3/
i
l
|
l
z 3
: Fe
: £
b |
|
i 1
l PANEL FJ.OW

MSC ROOF PANEL PLAN

UL 90

1itee
ettt i,

MSC ROOF PANEL PLAN

REVISIONS NOTWITHSTANDING THE ADJACENT < > ',
SEAL, NEITHER THE ENGINEER NAMED o %&?f.- “ %,

: NOR CHIEF BUILDINGS 1S ACTING 2 ML %« % | TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
REFERENGE MOJEE: AS THE ENGINEER OF RECORD. THE R i s =
ROOF SHEETING SYSTEM IS BASED ON THE FOLLOWING: A T R MED wND CHEFBULONGS = & 4/ . % [ PORTLAND, ME
7 TLOAIRG S(TEN Fo© RESPONSIBILITY 1S LMITED TO THE s WAL -
2-HHCH SYSTEN STRUCTURAL PERFORMANCE OF THE = -0 , 7 o - 2-BUILDING COMPLEX
3, SLIDING CLIPS WITH (2) 14" - 14 X 1-1/2" FASTENERS R ED COMPONENTS =9 nNosmg &I

PER CLIP AT PURLINS AND (2) #12- 24 x 1 1/2* A DESIGNED BY CHIEF BUILDINGS. N W oA CHIERE DRAWN | CHECK ORDER NO. RS1

FASTENERS PER CLIP AT WIDE FLANGE PURLINS, 2 S Gopne® S Biomas - =

LALERR OTHERER NITED. @ O T O (et i TSI ] CQ095226

72 TR A ) | swossos .DEC9 | S-DEC-09 RS5
L) 5 T - "\ )
P | —_—




TRI-BEAD
TAPE SEALER
~TRAPEZOID PLUG
(TRP) EACH HIGH RIB
DOUBLE BEAD

TAPE MASTIC
GUTTER STRAP
(GSM) AT EACH
PANEL HI-RIB

144 - 14 X 1 1/2° WT
PANEL TO EAVE

(8 PER PANEL)

(2) 1/4 - 14 X 7/8" WT
GUTTER STRAP TO
ROOF PANEL*

METAL INSIDE CLOSURE
1/4 - 14 X 1"

(2) PER CLOSURE

MSC ROOF PANEL

* EDGE OF MASTIC ALIGNS WITH
FACE OF TRAPEZOID PLUG

#12-14 X 1 178"
(TRIM COLOR) * DOUBLE BEAD
- EAVE STRUT
1/4 - 14 X 7/8" WT TAPE MASTIC
(6"C.C) TRAPEZOID
EAVE GUTTER (EGM) * FIELD CUT (2) 2" LONG STRIPS PLUG (TRP)
TRIM CAP (TC) OF TRI-BEAD TAPE SEALER & 2" STRIP OF MINOR
114 - 14 X 718 CENTER UNDER 1/4 - 14 X 7/8*WT'S RIB TAPE SEALER (TYP.)
(12 C.C) BETWEEN GUTTER STRAP AND EAVE GUTTER
#12-14X2" L ROOF PANEL. MSC ROOF PANEL
(8"C.C) * SEE ADJACENT ISOMETRIC DETAIL
WALL PANEL FOR INSTALLATION OF TRAPEZOID DOUBLE BEAD
PLUG (TRP). TAPE MASTIC
TRAPEZOID PLUG INSTALLATION WITH GUTTER
TRI-BEAD
TAPE SEALER
1/4 - 14 X 1 1/2"WT (12" C.C) SKEWED 1/4 - 14 X 7/8" WT (6" C.C.)
GABLE TRIM (GTM) 1/4 - 14 X 1 1/4" SHOULDER (24" C.C.)* SPECIAL ‘' CLOSURE (ST-3) TRI-BEAD
RAKE SUPPORT (A-20-T) MSC ROOF PANEL (FIELD CUT TO LENGTH AND TAPE SEALER
RAKE ANGLE THERMAL SPAGER BEVEL CUT TO FIT PANEL) PANEL CLIP
(A-20-B) URETHANE SEALANT (SIKA 201) 23 THERMAL SPACER
#12-14X2" N 1/8" X 3/8" POP RIVET (4“ C.C. MAX.) 4 MSC ROOF PANEL (NOTE: FIELD
(6"C.C) e TRIFBEAD , f CUT ROOF PANEL AT SKEWED
- s N TAPE SEALER BUILDING LINE AS REQUIRED)
(2)1/4 -14 X7 |7 SPECIAL BACK-UP PLATE (SP-3) w,,.-
#2-14X 2" N R A—
(6"CC) SNy e A—
GABLE TRIM SUPPORT Z} OUTSIDE CLOSURE Ty
ES e Wy [ T VS — Nt
GABLE EXPANSION HISIDE EAVE [ 4]
TRIM (GET) PURLIN TRIM (HETM) .
114 - 14 X 718" #10 - 16 X 1" PANCAKE HEAD ** 174 -14 X T/8" '
(12*c.Cc) (2 EACH PURLIN) (12 C.C)
o 114 -14 X 718"
OUTSIDE CLOSU'ZE * IT IS IMPORTANT THAT 1/4 - 14 X 1 1/4" SHOULDERS (12" C.C)
WALL PAN ARE INSTALLED THROUGH THE CENTER OF THE JAMB TRIM
SLOTTED HOLES OF THE RAKE SUPPORT. LIP-TO-LIP EAVE MEMBER
- : . WALL PANEL
NOTE: PRE-DRILLING 1/8" PILOT HOLE MAY BE
REQUIRED AT WIDE FLANGE PURLINS (WFSB).
+= NOTE: FIELD CUT OUTSIDE CLOSURE
2.9 FOR HIGHER ROOF PITCHES.
SECTION A
RS1 A
P TS
REVISIONS NOTWITHSTANDING THE ADIACENT . B . . /I%\";, EAVE & GABLE SECTIONS
REFERENCE NOTE: SEAL, NEITHER THE ENGINEERNAMED - <5 " i 1 1AM =V %
A NOR CHIEF BUILDINGS IS ACTING s - A TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
REFER TO ROOF MANUAL DETAILS FOR Eﬁﬁgg‘mg %ggﬁ?ﬁ':%ufl_“;mg W @' : A: LS = PORTLAND. ME
SEALANTS AND SEALANT PLACEMENT. A N A e, & | /WA @% ™ )
STRUCTURAL PERFmCEN_(rJ; THE - ’f’;‘-1 4 N BT 20 L B T e 2-BUILDING COMPLEX
PRE-ENGINEERED E L A L ox T
A DESIGNED BY CHIEF BUILDINGS. Y O Uoey S?S”- rars c H|EE$ DRAWN | CHECK ORDER NO. RS2
T, AT A B BUILDINGS J5A AL
e o \-a hd la £.O. BOX 2TH
JoN 1 7, SionaL Bl AURAIMMENS mumes {DECO) | GDECDN CO95226 | pee

Treeg ity




GABLE TRIM (GTM)
RAKE SUPPORT (A-20-T)
RAKE ANGLE

(A-20-B)

#12-14X2"

(6" C.C)

(2)1/4 - 14 X 7/8"

GABLE TRIM SUPPORT
(GTS) (10-0"C.C)
GABLE EXPANSION
TRIM (GET)

114 -14 X 718"

(12"C.C)

*+QUTSIDE CLOSURE
WALL PANEL

i I
. A

SECTION ﬁ
NG

1/4-14 X1 1/2°WT (12" C.C))

1/4 -14 X 1 1/4" SHOULDER (24" C.C.)"
MSC ROOF PANEL

(FIELD FORM 3" VERTICAL

LEG TO FIT FINAL DIMENSION)
THERMAL SPACER

T e T A e

N —— — ~
\PURLIN

#10 - 16 X 1" PANCAKE HEAD *
(2 EACH PURLIN)

*|T IS IMPORTANT THAT 1/4 - 14 X 1 1/4" SHOULDERS
ARE INSTALLED THROUGH THE CENTER OF THE
SLOTTED HOLES OF THE RAKE SUPPORT.

= NOTE: PRE-DRILLING 1/8" PILOT HOLE MAY BE
REQUIRED AT WIDE FLANGE PURLINS (WFSB).

=+ NOTE: FIELD CUT OUTSIDE CLOSURE

COUNTER FLASHING (NOT BY CHIEF) 14.9 COUNTER FLASHING
FASTENER AT 12" C.C. (NOT BY CHIEF) (NOT BY CHIEF)
| CAULKING (NOT BY CHIEF) EXIST. FASTENER AT 12" C.C.
i SPECIAL TRIM (ST-1) i (NOT BY CHIEF)
/ TRI-BEAD TAPE SEALER N CAULKING
TRI-BEAD TAPE SEALER \ (NOT BY CHIEF)
HEIGHT CHANGE TRIM HEIGHT CHANGE TRIM (LHET)
/ BOTTOM (GHMB) \ *1/4 - 14 X 7/8" WT (6" C.C.)
Al 1/4 14 X1 172" WT (12°C.C.) TRI-BEAD TAPE SEALER
/ ; RAKE SUPPORT (A-20-T) 1/4 - 14 X 1 1/2" WT (8 PER PANEL)
7] N rer \ i OUTSIDE CLOSURE
& TRI-BEAD TAPE SEALER
; y - PANEL CLIP WIFASTENERS
/ L e M \ H THERMAL SPACER
|7 =T 1S IMPORTANT THAT FASTENERS \ 3 MSGRO0R PANEL
ARE INSTALLED THROUGH THE CENTER ._I—-z___
| 41 OF THE SLOTTED HOLES OF THE RAKE ""!. h *NOTE: 1/4 - 14 X 7/8" WT TO
L SUPPORT AND THAT THESE FASTENERS RGYS ——————-o  BEPLACED11/2'EACH
AN N e —— —— — — - MUST NOT HIT THE PURLINS. SIDE OF HI-RIBS. SEE ROOF
PURLIN \ ; PANEL ERECTION MANUAL.
/ 3" #10- 16 X 1" PANCAKE HEAD |
/ (2 EACH PURLIN) |
1/4 - 14 X 1 1/4* SHOULDER (24" C.C.)™ \ :
RAKE ANGLE (A-20-B) : :
—
/ 4" g BACK-UP PLATE
/ WIDE FLANGE PURLIN (WFSB)
QN ﬂ
TRI-BEAD
TAPE SEALER

1/4-14x1 12" WT
(8 PER PANEL)

MSC ROOF PANEL

TRI-BEAD

TAPE SEALER

MSC ROOF PANEL

BACKER PLATE

PANEL CLIP

THERMAL BLOCK

SEE ROOF SHEETING PLAN
FOR FASTENER TYPE
PURLIN

MSC ROOF PANEL SPLICE DETAIL

odicdicdics

SEAL, NEITHER THE ENGINEER NAMED
NOR CHIEF BUILDINGS IS ACTING
AS THE ENGINEER OF RECORD. THE

RESPONSIBILITY IS LIMITED TO THE

FOR HIGHER ROOF PITCHES. viltiligg,,
r\‘% l/ ;‘ F r'q/f l”;
% b T e 7
REVISIONS NOTWITHSTANDING THE ADJACENT g Yo e, ’a,’ EAVE & GABLE SECTIONS

TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

£

-
- p -
Tl Ko W 2 g
ENGINEER NAMED AND CHIEF BUILDINGS  —~ © - %‘E’r ) . ™ = | PORTLAND, ME

STRUCTURAL PERFORMANCE OF THE

2-BUILDING COMPLEX

Vi i S

PRE-ENGINEERED COMPONENTS Sl
DESIGNED BY CHIEF BUILDINGS. N <___C.,NNQ 3 F B cHlEF$ DRAWN | CHECK ORDER NO. RS3
B - vy ) S Wl e r
NS et AT W BUILDINGS JsA AL
e, SOy AR dhdaicn o il bkitons, b 2,500 5
Y, STONAL E‘\\“‘ ‘ b swemwor| 1pEC09 | 9-DECO9 C0O95226 RS5




FAD IENCWD

FASTENERS 1

{1uX) }\ |-axt Wt
1 4 4

E}“rl | T Eﬂ 1 T

asner 43 R S it S W I
FIELD LOCATED =1 W FIELD LOCATED

1 FASTENERS FASTENERS

‘\|\r

MINOR RIB TAPE SEALER . TRIM CAP “
& &

LEP)

43[ i

218"
5/16" X 2 1/2" SLOT The above details are on update to the CHIEF MSC Erection The above details are on updats to the CHIEF STC Erection
Manual page MSC-35 and MSC-38. Follow the instructions Manual page STC-35 and STC-38. Follow the instructions
for sequences and usage that are in the manual - adding the for sequences and usage that are in the manual - adding the
4 - 112" i 2 field located 1/4 - 14x 1 1/2° ;
(TRP) (EP) RAKE ANGLE CONDITIONS AT EAVE STRUT
COLOR
&
n
2" h H % P
** RAKE ANGLE | 7~
* RAKE ANGLE < |i ¥ ; P
/E A ~- EAVE STRUT
(4)#10-16X 1" #
PANCAKE HEAD g EAVE STRUT = FIELD NOTCH RAKE \ @) #10-16 X 1"
TRAPEZOID HI-RIB PLUG MID POINT FIXED HIGH STC SLIDING CLIPS ANGLE AND BEND A PANCAKE HEAD
\ TAB AT EAVE STRUT \
* FIELD NOTCH RAKE GORNERANGLE \ CORNER ANGLE
ANGLE AT EAVE STRUT \ V /
RAKE ANGLE TO CORNER ANGLE QQNNECT!ON et RAKE ANGLE TO EAVE STRUT CONNECTION
S NOTWITHSTANDING THE ADJACENT SV OF gy 00,
REVISIONS o Nﬂ}”quE E"g";gﬂm ar SIE OF 4 //;,’ UPDATED STC/MSC DETAILS STC-PROCGD
NOR CHIEF BUILDINGS ISACTING PR v S “~
Yo e Eroan o e e 5 Wi Ry ] <% [TURNER BROTHERS, LLC./ W. B. MASON PORTLAND ME
ENGINEER NAMED AND CHIEF BUILDINGS = z
NOTE: A RESPONSIBILITY IS LIMITED TO THE 5 W™ (?-;1%55;7 Tk 2 PORTLAND, ME
pﬁ%ﬁg&mmmu EE"?!;'IHE - ‘ ‘ ’—g Fi - 2-BUILDING COMPLEX
THE DETAILS ON THIS PAGE OVERRIDE DETAILS IN THE Yo DESIGNED BY CHIEF BUILDINGS. L e 6 (CHIERSH [ ] o ORDERNO.__|RSA
STC/MSC ERECTION MANUAL. RELEASED 04-07-08 LR ogged o & [BUILDINGS. gl | SA AL
suPERseDES [ i2-1807) 4 b S A NS |eemdadme Gioion]  Decos |aDECS C095226 RS5
T ION AL Y N ~




Ay o S RS B

#12-14 X 1 114"
(TRIM COLOR)

* TAPE MASTIC
(BETWEEN GUTTER
STRAP AND ROOF
SHEET)

GUTTER STRAP
(GSL OR GSM)

EAVE GUTTER
(EGMx)

GUTTER STRAP TO ROOF SHEET AND GUTTER
REFER TO EAVE SEGTION ON ERECTION DRAWINGS FOR GUTTER STRAP
SPACING AND TYPE.

* TAPE MASTIC WILL BE TRI-BEAD FOR STC AND MSC ROOF. USE DOUBLE
BEAD FOR LTC ROOF. TAPE MASTIC NOT REQUIRED FOR MVF OR MVP
ROQF.

WALL PANEL
WALL PANEL

DOWNSPOUT BRACKET 1"
(CDB-x) .
) |
<% |
1 (2)1/4-14 X 7/8"

(2)1/4-14 X 718"
DOWNSPOUT BRACKET
(CDB-x)
CS WALL PANEL AP WALL PANEL
BRACKET TO WALL PANEL

LOCATE BRACKETS AT 6-0" C.C.

LOCATE BRACKET ON HIGH RIBS FOR CS WALL PANEL .

LOCATE BRACKET ON FLAT OF PANEL FOR AP WALL PANEL.

ATTACH BRACKET TO DOWNSPOUT WITH (2)1/8" X 3/8° BLIND RIVET EACH
LEG

e Seal gutter insert to gutter with a
3/8" bead of sealant around
flanges of inserl. Hand tool into
place upon installation to minimize
damming effect.

EAVE GUTTER (EGMx)
CUT LINE

(3)1/8" X 3/8" BLIND
RIVETS

GUTTER TO DOWNSPOUT

FIELD CUT HOLES IN GUTTER AS SHOWN. ATTACH DOWNSPOUT TO
GUTTER INSERT WITH (3) 1/8" X 3/8" BLIND RIVETS. LOCATE CUT AS CLOSE
AS POSSIBLE TO BUILDING LINE FOR BRACKET ATTACHMENT.

LAP GUTTERS 1 1/2".

P ? EAVE GUTTER

(EGMX)

FIELD NOTCH
AS REQUIRED

(15) 1/8" X 3/8"
BLIND RIVETS

3/8" BEAD OF
SEALANT

DOWNSPOUT

(6) 1/8" X 3/8" BLIND RIVETS

DOWNSPOUT
(CDP-x)

FIELD NOTCH

(6) 1/8" X 358"
BLIND RIVETS

e  Seal gutter inser 10 guuer win a
3/8" bead of sealant around
flanges of insert. Hand tool into
place upon instaliation to minimize
damming effect.

GUTTER INSERT

(3) 1/8* X 3/8" BLIND

RIVETS

& - CLOSED DOWNSPOUT

NI /\ (6) 1/8" X 3/8" BLIND

A RIVETS

~
\— OPEN DOWNSPOUT
(CDP-x)
™
\/
GUTTER TO OPEN DOWNSPOUT

FIELD CUT HOLES IN GUTTER AS SHOWN. ATTACH DOWNSPOUT TO
GUTTER INSERT WITH (3) 1/8" X 3/8" BLIND RIVETS. LOCATE CUT AS CLOSE

AS POSSIBLE TO BUILDING LINE FOR BRACKET ATTACHMENT.

EAVE GUTTER
(EGMX)

BLIND RIVETS

3/8° BEAD OF
SEALANT

(6) 1/8" X 3/8°
BLIND RIVETS

DOWNSPOUT

FIELD CUT
SHADED AREA

CUT LINE

BEND LINE

\

(4) 1/8" X 3/8"
BLIND RIVETS

A

OPEN DOWNSPOUT ELBOW

DOWNSPOUT SPLICE
GUTTER END CAP USE 1° LAP DIMENSION FOR ALL DOWNSPOUT AND ELBOW LAPS. " JQRTIONAL - FIELD FORMED)
REVISIONS NOTWITHSTANDING THE ADJACENT STANDING SEAM ROOF WITH STANDARD GUTTER

REFERENCE NOTES:
1. ALL SEALANT IS SIKA 201.

SEAL, NEITHER THE ENGINEER NAMED
NOR CHIEF BUILDINGS IS ACTING

Jo

AS THE ENGINEER OF RECORD. THE

TURNER BROTHERS, LLC./W. B. MASON PORTLAND ME

2. DRILL 1/8" DIA. HOLE FOR 1/8" X 3/8* BLIND RIVETS. AT O R Gl Pk RS PORTLAND ME
A RESPONSIBILITY IS LIMITED TO THE
STRUCTURAL PERWCEN?;THE 2-BUILDING COMPLEX
PRE-ENGINEERED NE
A DESIGNED BY CHIEF BUILDINGS. CHI EE% DRAWN | CHECK ORDER NO. RS5
RELEASED | 06-26-09 BuiniNGs A | =
SUPERSEDES | (4-14.09 A | ACHAOHISRI gworose] 1-DEC09 | $DECD C085226 RSE




3g-z" 280" 250 285"
- quige
/- XBC65(TYP) LI
: ! %/ % T— — % f
& i SAG~, g 4
? g | XBCT TP G2 g3 1~ XEC (TYP) K G4
- XGlA—S XGA-5 A
& (TYP) (TYP)
w0
5
ol v _ . |_.9§___ 4 ﬁﬁ_lﬁl i _ﬁ_._l 3 |_1°( 1 ._611_1_
b b XBC-3 hij b
3 g ] &
& 5 2 | o n :s 2 o o
il B 0{ 18] O ] I5] o o 1
-3
a L2 ; A208 == i =1 i o [ s
bt & MASONRY (NOT BY CHI
g g g $ B parercER)
20 220" 200 40 220 20 2.0 a8
g @
LOWSIDE
SIDEWALL FRAMING ELEVATION
COL. LINE 18 GIRT DEPTH: 10°
288" 280" 280" 13-11" , 16-3"
__‘ o7 2 L
T gy PP .. L XBC3  mCs2 L XBC2 XBC3 N
| P ————————————— -4 l " xBc-a ™ X803 7+
i ] L (22 "
S4
i | N \&/
vl _‘.-;f || ] ! |I | ;‘.: !l
i | | | v | —— OPENTO BLDG, 8" —
g . I, e . |
) | |3 s | | &) I
| o — e T ETa o O :
— = ‘a s ' . s wae . ket LA F e 5 T %41 7l e a.' i o et s . ® a .. b .A“‘ ) ! : ’ b ".'"'." S a £ ‘
’E? 7-._!-: .- “ a’e 14 A: o T g '4 5 ' . El .y d: T‘lzq‘ s av R 5 " - .T‘.g T e . . M Ll P i i -
i ™ P 4 ‘d J 7'. = _..‘._‘.‘- ‘3. % '-é P ot d‘ ;‘ o N L .42_”_,7”_0““““;‘,7 - . - " n . a "_-f' " i .. g e u‘ u ;.‘ .4.. e , et ".4 .
e "\_ MASONRY (NOT BY CHIEF)
SIDEWALL FRAMING ELEVATION
COL. LINE 149 GIRT DEPTH: 10
RSN FT)
N o QOF g, it 73
REVISIONS NOTWITHSTANDING THE ADIACENT ’ SIDEWALL DRAWINGS
SEAL, NEITHER THE ENGINEER NAMED
A NOR CHIEF BUILDINGS IS ACTING R TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD, THE .7
ENGINEER NAMED AND CHIEF BUILDINGS, * PORTLAND, ME
A RESPONSIBILITY ISLIMTEDTOTHE =
mucmmél_g :EERFORL;A(.)NCEOSTHE - 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENT.
A DESIGNED BY CHIEF BUILDINGS. b CHlEE DRAWN | CHECK ORDER NO. 1
BUILDINGS JSA AL
1 dhinic . #0 BoX20n
A i dOuledeiios . oo, 1.DECO9 | 9-DEC-08 C095226 SB




—®
—®

WS 1845 {L _@

REFERENCE NOTES

(7) EGMO-1 ——
|
ot —— w u
ez 0 o] ] @ 0 : ) 0 ]
i 3 8 %3 i 3 i 3 3 32 i 3
g g g % 2 2 2 g g 2 2 2 2
| CUT OFF 2"
2) HT-J (2)HT-2 (JHT-2 (2) HT-2 |
(2) OT102 @ OT102 (2)DT10-2 (2) DT10-2 | |
| I I i I | | | |
o | |2t Rl g & Rl R
Q Q 0 |9|a sl
83 | 28 | g2 S 813 e 19 | 381 |
‘}‘E ! |Bg~.4 qu Elql ﬁ;l.q ﬂl“.‘ t~.‘ﬂl I EQ‘ i |
E El & g £ £ |5 £
| [ | | | | 1 I | |
@ e gt _ bl el | P S - e N L || .
. “\_ MASONRY (NOT BY CHIEF) s
LOWSIDE NOTE: BLDG. A" coL. LINE ﬂa(‘gsrmnmn GUTTER) DOWNSPOUT DROP SPACING * = 52
(SINGLE DOWNSPOUT DROP). (6) DOWNSPOUT DROPS PROVIDED FOR THIS WALL. EACH
ELE Ex!‘:tL SHEETING ELEVATION DROP CONSISTS OF (1 1/2) 12 CLOSED DOWNSFOUTS AND (1) ELBOW.
u ~DOWNSPOUT DROP SPACING INDICATES THE MAXIMUM RECOMMENDED EQUAL
SPACING OR THE MAXIMUM RECOMMENDED LENGTH OF GUTTER THAT EACH
DOWNSPOUT DROP MAY DRAIN.
]
i
|
|
~— OPEN TO EXISTING BULDING —~ |  —— OPENTOBLDG.'B* —=
|
|
|
2 ) * el ‘g_‘, el B . ,'" ] # - .-‘ -.. 1. Ed . " ) av P ’4.4' SR 4 ot e ..‘ %% % S - : b 8 e al « . ... 3
A e ; ) .« . 2 A R s e e wl arg, oA L A R B 3o o0 ¥ s e Aok e . : L4 oA . . ekt 7%
ly W x: = ? . i e 3 B el A L W A i . PR g T g g “ * E) C i T ‘ > at » ’
WWW s e o e i L N A N s A A YR W ! e Mldy acow 4 3 ph RN B e ey ‘ -
"\_ MASONRY (NOT BY CHIEF)
SIDEWALL SHEETING ELEVATION
COL LINE 14.9
\\‘-‘1”!“.—{“”?1!
,\‘s. - e I ﬂ/ir(]-' ’l
o A 2
REVISIONS NOTWITHSTANDING THE ADJACENT S % SIDEWALL DRAWINGS
SEAL NEITHER THEENGINEERNAMED = @ " wyiiiant - <& 2
c NOR CHIEF BUILDINGS IS ACTING > s : - TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD. THE T 3k e / Z: %=
ENGINEER NAMED AND CHIEF BUILDINGS = © ¥/ : 7 = | PORTLAND, ME
A RESPONSIBILITY IS LIMITED TO THE St S S
oL perrorwance oF e = 3 NAPH#HY ;7 = | 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS = b R
Jo DESIGNED BY CHIEF BUILDINGS. = C«\\'\/\‘.:\,’CEN%@Q.." &3 CHIER DRAWN | GHECK ORDER NO. 52
ST ENE I o SA
A o o oX BUILDINGS /| AL
("-',»?/ONAL \»“\\\‘ lamanumhs CAnomN0.E 1. DECO8 | 9-DEC-09 0095226 S6

1, FOR OPENING TRIMS, REFER TO GENERAL DETAILS.




NN

__®

NOTE: FIELD MITER HI-SIDE EAVE
—~— (1) HETM-1 & (1) HETM-3 TRIM AND ENDWALL GABLE TRIM

1 AS REQUIRED AT CORNER.

= (1) JT-2& (1) JT-3

» / m
073 3" £ E 8 Z g g
g 2 g g 2 2
g / 2o g ?
5/ T %
2 / 3 /
=2 -
/ E | G186 | / & E ;TT;
/ 5 / i | 1
. I |
]
a8 @ o I | 5
2 5 (58 | 8| 48
{_ G17 @ G18 | W o a l[ ! 2 o
’ m @ o ) = ] ] 6_6
N R . | |
| a208 —= . plit == L 1 . 1060
el 164 4 Fee ] 4 .4‘ 2 % e — i Vddd 4 q‘d 4 ‘4 " d"';_
4 i a8 % s i T . 5 . A q . aa . i
2 ¥ " o ] fig - a 4 e B’ ¥ e .
o 3 ‘e 4 aq‘ Ca B 4 i //":l o ¥ m:- . -
B <4 he B e . 1024 < 4 L LR 1024 @
g MASONRY(NOT BY CHIEF) N MASONRY(NOT BY CHIEF)
sofr \ B ‘
3 1
SKEWED SIDEWALL FRAMING ELEVATION SKEWED SIDEWALL SHEETING ELEVATION
COL LINE Z GIRT DEPTH: &' COLLNE Z e
BLDG. ‘8"
REVISIONS NOTWITHSTANDING THE ADJACENT SIDEWALL DRAWINGS
SEAL, NEITHER THE ENGINEER NAMED
A NOR CHIEF BUILDINGS IS ACTING TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD. THE
ENGINEER NAMED AND CHIEF BUILDINGS ~ PORTLAND, ME
A RESPONSIBILITY IS LIMITED TO THE :
S'I'RUECN'NRAL PERFORMANCE OF THE B 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS :
REFERENCE NOTES A DESIGNED BY CHIEF BUILIINGS. = O N GHIEF.% EEAVR, | erEck ORDERNO. 9
s BUILDINGS JSA AL
1. FOR OPENING TRIMS, REFER TO GENERAL DETALLS. Fo\ o S8y, h‘\'{'};‘ \5&(” Tt e p— C095226 %

Ay N
".!': \“‘



1!_0"

1 xzac;zll x 1 "
| WIDE FLANGE PURLIN (WFSB) 8 112" % ] é TE;OLTS
4) 1/2" X 1 1/4" BOLTS TS.
(2) XBC-3 (TOP & BOTTOM) “ LIP-TO-LIP SUPPORT GIRT
(2) 1/2* X 1 1/4* BOLTS
(2) 12"X 1" S.T.S \Y\
LIP-TO-LIP SUPPORT GIRT \
FRAME COLUMN ]

118-9" d ;

RAFTER BEAM

118'-9" @ (6) 1/2* X 1 1/4" BOLTS
CORNER POST

(2) V2" X 1*STS.
XBC-9
(4) 142" X 1 14" BOLTS

(2 12* X 1"8.T.8. A
(2) 112" X 1 1/4" BOLTS

[}
| —

r“ WALL PANEL
#12-14x 2" (6"C.C)

CORNER POST
MASTIC (NOT BY CHIEF) /,

BASE MEMBER (REFER TO ANCHOR
ROD PLAN FOR ANCHORAGE)

_ }  103-0" @
BASETRIM(BTN)—// LAy e ,-j._ml
MASONRYWALL/' T
(NOT BY CHIEF) " ok

(2) 172" X 1 1/4" BOLTS

GIRT
#10 - 16 x 1" PANCAKE HEAD (2 EACH GIRT)
SPECIAL CORNER ANGLE (SP-4)

2 V4 3=
REVISIONS HOT AT AN ACRNT ‘@‘;\Q e il /1’74 ,/;"r,’ SECTIONS & DETAILS
NOR CHIEF BUILDINGS IS ACTING > : ) >

TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME

o O VPR A
AS THE ENGINEER OF RECORD. THE A iLLk Yy
ENGINEER NAMED AND CHIEF BUILDINGS = ¥#r = -Ca ZZ‘ 4> | PORTLAND, ME
RESPONSIBILITY IS LIMITED TO THE = AR T L2
=D - i

odlcdicgio

ST i
STRUCTURAL PERFORMANNL‘I.EE 0; THE . [2:1-0 9 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENT! B R (O IARTS I
DESIGNED BY CHIEF BUILDINGS. -:;.’Q(\“._ Ea g iiJ/J S CHlEE DRAWN | CHECK ORDER NO. S4
R & S N LA NS BUILDINGS JSA AL
<-,'\ ........ X ™ 2 dadk P.0.BOX 278
Yoy By, o7 e I adinclQltisozioc ke cwosnel 1 DECQ9 | 9-DECL9 CO95226 36
T, CNAL & ST




SECTIO

WALL PANEL
SPECIAL CORNER ANGLE (SP-4)

#10 - 16 x 1* PANCAKE HEAD (2 EACH GIRT)
#12-14x 114" (12" C.C.) (TYP.)

JAMB TRIM (dT)

BACK-UP ROD & CAULKING

(NOT BY CHIEF)

BASE TRIM (BTN)/ 45w 7

MASONRY WALL Hen
(NOT BY CHIEF) / S

WALL PANEL
#12-14x2" (6"'CC)
MASTIC (NOT BY CHIEF)

BASE MEMBER (REFER TO ANCHOR
ROD PLAN FOR ANCHORAGE)

1060 G

. a —itN
-

I
\ }r

5/16" X 3/4" BOLT

L

TYPICAL SAG ANGLE
CONNECTION AT CEE GIRT

\PORTAL FRAME RAFTER
XBC-1

172X 1 1/4" BOLT
\sn 6% X 3/4"BOLT (TYP) !
SAG ANGLE i

A4

SAG ANGLE
TO PORTAL FRAME RAFTER

e OF 4.,
REVISIONS NOTWITHSTANDING THE ADJACENT P e e 4//]/ ’,, SECTIONS & DETAILS
SEAL, NEITHER THE ENGINEER NAMED 2 ..
& NOR CHIEF BUILDINGS IS ACTING % »W-* IAM - ’:, TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
S THE ENGINEER OF RECORD. THE & T * =
ENGINEER NAMED AND CHIEF BUILDINGS = ** & s = | PORTLAND, ME
A RESPONSIBILITY ISUMTEDTOTHE = I 1“ _ !
ﬁuﬁﬁ&?&mpouﬁm *f‘;‘x L Nd¥aR _:': 2-BUILDING COMPLEX
A DESIGNED BY CHIEF BUILDINGS. e ¥ '\5’ CHlEF¥ DRAWN | CHECK ORDER NO. S5
> BUILDINGS x4 JSA AL
A ) edbion o itk . crwmiaa el 1.DECO9 | 9-DEC-09 C095226 S6




* XBC-38 @ 8" EW GIRTS
W % XBC-39 @ 10" EWGIRTS o o]
(5) 1/2" X 1 1/4" BOLTS

v * XBC-38 @ 8" EW GIRTS
XBC-39 @ 10" EW GIRTS o
o o SQ . NER POST = PgSR_il:lER
COLUMN OR o
\ piie LIS
... ogl | B o = N Joeced i rosts s
\ o @ . o . . 3 ) "
{ e (4) 172" X 1 1/4" BOLTS 0 @ X1 BoLTS (2) 172" X 1 114" BOLTS
\E E %)I é‘f X 1 1/4" BOLTS \\ *T SR ek
i // XBC-* :. O‘ / /
o 0 .’%‘F’ 0 \ T o
L] ? .
PANGAKE HEAD e o ° ° a0 ANGLE — | - \
(EACH GIRT) = — (2)#10-16X 1" 2 =
A-20 ANGLE = & PANCAKE HEAD \
(EACH GIRT) P
GIRT TO GIRT CONNECTION GIRT TO GIRT CONNECTION GIRT TO ROTATED CORNER POST
OUTSET SIDEWALL / OUTSET ENDWALL AT ROTATED CORNER POST INSET SIDEWALL /OUTSET ENDWALL
swg W .
e e CORNER POST © - CORNER POST
)\ % // 1%1 //
GIRT \ ~1 - t GIRT ﬂ1 L
"X 114" BO 5 2) 172" X 1 1/4" BO
(2) 112" X 1 1/4" BOLTS \\g T_E.T $ | @ 12" X1 LTS \\\E z E .
geexe Ly g . oo Ly o st o ||

AAN
X oRT ot (EACH GIRT) f
\ e & A-20 ANGLE \ GIRT &
XCCGC-2 @ 8" POST
(5) 112" X 1 1/4" BOLTS XBC-3

(EACH GIRT)
220 ANGLE —
XCCGC-2 @ 8" POST
XCCGC-3 @ 10" POST

GIRT TO CORNER POST

GIRT TO CORNER POST
OUTSET SIDEWALL / INSET ENDWALL OUTSET SIDEWALL / INSET ENDWALL
"\\alhllﬁggm '
NOTE: EV S TWITHSTAN ADJACENT
;::E T REVISION o) STHETANONCTHE ADCENT UPDATED DETAILS C GIRT CONNECTIONS c2
THE DETAILS IS PAGE OVERRIDE DETAILS IN THE
T e MARGAL A agl;ﬁéigg:&ﬂéﬂgff@meE 3 TURNER BROTHERS, LLC. / W.B. MASON PORTLAND ME
ENGINEER NAMED AND CHIEF BUILDINGS =~ , | A . .= | PORTLAND ME
A RESPONSIBILITY IS LIMITED TO THE - W . e &
STRUCTURAL PERFORMANCE OF THE Jarit-s9 : = | 2-BUILDING COMPLEX
A PRE-ENGINEERED COMPONENTS =0 o EEAD I
DESIGNED BY GHIEF BUILDINGS. s, o8y Aedabad R~ CHlEF$ DRAWN | CHECK ORDER NO. S6
RELEASED 11-30-09 ST, o S EY D .
A T ﬁF.\mgj)__ &' > |BUILDINGS /1 JSA AL
SUPERSEDES Y, SN O T e gieaterd 3DECO9 | 9DECO9 C095226 S6
Fa, STOR AL & W




i N
| o8y ; 260 , 4 ‘ T4 4
[ | G22(TYP.) | G23(TYP.) | G24(TYP.) |
XBC-3 (TYP.) *NOTE: ERB-1 HAS A "CHIEF" LOGO STICKER.
/\  ERB.2 ERECT THE MEMBER SO THE STICKER IS
L1 a— T T . T I eRp.§ TOWARDS THE OUTSIDE OF THE BUILDING.
N\ I 1 [ 1 | g
1
2 “sa @~ sAg %
)
ﬁl . ﬁ . “¢— 5RRR 274 /
f XGCA-1 (TYP.) ' ' - ~ " p Y ¥ — xac-a8 (P V1
P i : ™ - )
s g N 5
il Sies | > t e
|| | " xac1ve) Pl
‘y A208 < A N 4 &l ls S
___Fr -. A b 4 ] : =i "- L4 a £ -y 211" Vs < ~ S i:' S i o ﬁ
e ot .4 oa ., v O . " o =
?? ,‘?T g . . . 4 2 s v,"—‘t‘ "'A.zu-a 4 BRRR 270 \\ Eo
" ? PERPEE B gy Wl B A 1 b A
=) Y a4 : . - PR t 7 e 4 ‘! . ] w oY o g 4 = ! P P av 11 102'-4"
| "\ MASONRY & E g f S
(NOT BY CHIEF) E g 5
\ g
ENDWALL FRAMING ELEVATION
COL LINE K GIRT DEPTH: 8' A
BLDG.A&B
’ 174 ; 174 | 250 /
r G24(TYP.) | G23(TYP.) | G25(TYP.)
XBC-3(TYP) /
- SA15 g B /
b ] 27
B ‘< SRRR 270 . , , 4 e %
. > ' 1 [
\-| xBC-38 (TYP) FB1)\ N // /{FB1 FB1->\ e/
. N y : ; | %
| = ™~ /— /
B ~ 7 ]
I | < | /
7N ™\ xBC-1 (TYP) -
o ~
N BN 7 ~ A20B —= - — 1 B
~ f 1 ~ 1o] / N i * .‘. . i 8 T" B] /
& ‘?‘. < SRAR 274 “ 2411 :' X oty oER .a a . Tl g /
< | | A28~ . L . AR
6_1% l | : S > L3 » a E -IJ . = ¥ [] = A E _4
t 2 E: g MASONRY S/
g g ué (NOT BY CHIEF)
. ENDWALL FRAMING ELEVATION
COL LINEE GIRT DEPTH; B*
.\"\‘“22“““
< (W] 7
[ REVISIONS NOTWTHSTANING THEADUACENT, S o . g ,/;'»,) ENDWALL DRAWINGS
S EITHER NAME ~ .t fel
A NOR CHIEF BUILDINGS IS ACTING S 90 WILLIAM—=, & “ | TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
AS THE ENGINEER OF RECORD. THE S ~ =
A ENGINEER NAMED AND CHIEF a_:_ﬂHLmNGs z e o ,\@g me = | PORTLAND, ME
RESPONSIBILITY IS LIMITED TO THE : AL iz
smucwmpmc%zmc&%me 1 D_J/a;g;g? ‘= | 2-BUILDING COMPLEX
PRE-ENGINEERED COMPON - N0SB23 T
IE DESIGNED BY CHIEF BUILDINGS. L0t o 4%’ = cl."EE? DRAWN | CHECK ORDER NO. El
R TENSE "@\% S |BUlLDINGS | gL | ABLO | JSAIAL | ~g5994G
‘ A 0 S AT |s i ctsidesiza . Gruomnose 13NOV-09 | 9-DEC-09 E5
=N - 3



1z-r

/
%

BUILDING A

NS
10" PURLI 2‘_9%_

183

El,l
=)
- : ‘- ta \ ." ‘.‘.- ",- R . .q;‘._-
e 5 ,'~. o ‘ g T e ‘_ . 57 3
L Ey 4.. ety .. Ly ",.'_': ; :. oy ,‘.‘.“'_' ]
.“‘,' : S ‘.‘:' it g T..‘ -. - ‘-.d * .;: S e 102'-4* s
MASONRY (NOT BY CHIEF) ,_/
ENDWALL FRAMING ELEVATION
GOL LINE J.46 BLDG. B
\\\\l!!ﬂi”“
\\\\KE QF g RI"I
LT T
REVISIONS NOTWITHSTANDING THE ADJACENT S AT 0 ENDWALL DRAWINGS
SEAL NEITHER THE ENGINEERNAMED & 9 " W AM = < =

AS THE ENGINEER OF RECORD. THE

RESPONSIBILITY 1S LMITED TO THE

NOR CHIEF BUILDINGS IS ACTING S % - =
Sl b g
ENGINEER NAMED AND CHIEF BULDINGS = © MS}E’ Z ﬁ =

TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

PORTLAND, ME

A STRUCTURAL PERFC%?“MANNGE OF THE 2 Nofmaped ! 5 2 | 2-BUILDING COMPLEX
: PRE-ENGINEERED COMPONENTS R R R
DESIGNED BY CHIEF BUILDINGS. 2 r‘)\l{g\—'}/.'lcEa\i S%Og \% “: CHIEE$ DRAWN CHECK ORDER NO. E2
i A @ i e N ,{'\ - gt!||_blll65 ro. AL i
‘:) ”’,ﬁ,fg/ ONAL s O e G0 e 13 NOV-00 | 9-DEC0S C0O95226 E5
T FTTTTIO




NOTE: FIELD MITER GABLE @
TRIM AND HI-SIDE EAVE TRIM

AS REQUIRED AT CORNER. \
[

e 1oe0r LUl BTN 1

(4) GTM-1 s
= © T 0 ~ G aR @) GET1 By —
g % 2 ~ o 3 = b @ 3 @ o - @ @
= & & & & 8 2 3§ 5 g ¥ 3 § & § 2 3 E B & 3 g
= £ £ £ & £ £ £ £ £ £ = £ = € £ & 8 =2 8 34
i & =@ & § §# £ & £ £ £ 3 i § 358
| | N
| |
I |
. | [
b
A | I
\Ee) 4 1B 5
44 M !
ey ol iz | 1]
8] 8 | |
o R PRI T T SRR AR T I LAy E s
R S PP E P RN Bl 2 L[ !
a4 Py 5 . .o 2 g A + . —_— i
@mu- L S o g, By kol PR e Ll '_gm-y =0 - . L - - — .l | || 1030 G
\_ MASONRY (NOT BY CHIER CUT OFF 63" L

EWB 183.5

EWB 184.6

EWB 185.8
EWB 186.8

ENDWALL SHEETING ELEVATION
COL. LINE K

(3) GTM-1 & (1) GTM-2
G151 (100°C.C)

EWB 1985.8

EWB 187.0
EWB 182.1
EWB 163.3
EWB 1684.4

EWB 184.8

EWB 183.6

EWB 182.56

EWB 188.0
EWRB 188.1
EWB 180.3
EWB 181.4

CT-1

EWB 165.5

EWB 166.6

—®

N\

N\

\

in
[ - /
l‘? 0
g g i 1 | et
ﬂ[ P 5_5 L d N 7‘.. * & -' i ¥ R R * %.‘ . K:
Q@ o hi k. . : : e t OELE e B .
Q- 5| A — BTN :l_l'l" RN B GRS e /
1050 L[ L MR % ‘_}—_‘_Ifl . b - T ik e SR ;‘...‘A-J’bb MO o s 8 i e : i /102!"4'&
A.H_,M - MASONRY (NOT BY CHIEF) S/
ENDWALL SHEETING ELEVATION
COL LINE E
YL
\\"\A\(' E ﬂ.'r”l"l
T T N a7 4
REVISIONS NOTWITHSTANDING THE ADJACENT S Ay %, | ENDWALL DRAWINGS
SEAL, NEITHER THEENGINEER NAMED . ¢~ -7 A
A NOR CHIEF BUILDINGS IS ACTING <9 wituAaM_ =< 2 | TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
ASTHE ENGINEER OF RECORD. THE = .~ . ,.C. ke =
ENGINEER NAMED AND CHIEF BUILDINGS = 1 g_,‘ A s PORTLAND, ME
JoX RESPONSIBILITY ISUMTEDTOTHE = P s =
STRUCTURAL PERFORMANGE OF THE L woltdks? ([ 3 | 2-BUILDING COMPLEX
PRE-ENGINEERED COMPONENTS ks g ot
REFERENCE NOTES A DESIGNED BY CHIEF BUILDINGS. rpanne®. é\_‘f S CHIEE DRAWN | CHECK ORDER NO. E3
(ENSTo @y [BUILDINGS | JL, | SSA M. C095226
1. FOR OPENING TRIMS, REFER TO GENERAL DETAILS. Fo© Sroninn T oo L1 N oy g £
HTTIRARITE,



GIRT
(2) 12" X 1 1/14" BOLTS

#10- 16 X 1" PANCAKE HEAD
(2 EA. GIRT)

V
7
SPECIAL PLATE (SP-2)

CORNER POST
(4) 1/2" X 1 1/4"BOLTS

XGCA-1
/\GIRT
gao

I\
i |

ot
I iy =~
re| T

12"

©

AL

CORNER POST
(2) 12" X 1 1/4"BOLTS

\
GIRT v /?

A 7

XISTING BUILDING

E

/ 1" I—‘
CORNER ANGLE (A-20)
#10 - 18 X 1" PANCAKE HEAD
(2 EA. GIRT)
SECTION ﬂ

O
9
GIRT
WALL PANEL

#12-14 X 2" (12°C.C.)
#10 - 16 PANCAKE HEAD
(2 EACH GIRT)

CORNER POST

GIRT
WALL PANEL

SPECIAL PLATE (SP-2)
#12-14X 2" (12°C.C)
SPECIAL CORNER TRIM (ST-2)

WALL PANEL
#12-14x 2" (6' CC)
MASTIC (NOT BY CHIEF)

BASE MEMBER (REFER TO ANCHOR
ROD PLAN FOR ANCHORAGE)

Lt . { 1060 ﬁ
BASETRIM(BTN)—/J G 7 : ‘

MASONRY WALL .
(NOT BY CHIEF) ;

REVISIONS NOTIWITHSTANDING THE ADUACENT € OF 17,47, | SECTIONS & DETAILS

SEAL, NEITHER THE ENGINEER NAMED SR g,

A NOR CHIEF BUILDINGS ISACTING R A TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
ASTHEENGINEEROFRECORD, THE =~ - -« Jpfile! <=
ENGINEER NAMED AND CHIEF BULDINGS = , = X*/2-@. £/ 4= | PORTLAND, ME

Fo RESPONSIBILITY ISUMTEDTOTHE = X ;| /\&EY -
STRUCTURALPERFORMANCE OF THE = _ - Vj#lass9 = | 2-BUILDING COMPLEX

A DESIGNED BY CHIEF BUILDINGS. - é’,\-) /‘.‘a(} ;sda:ﬂ\\ [:;':!;j A cHIEE DRAWN CHECK ORDER NO. E4

N Upee®. & [BUILDINGS ALISA | JSAJAL
Iﬁ ’/}Z:CLN: ‘Z,}A@g‘\ kel et . G 13 NOV-08 | S-DEC-09 C095226 E5
7, STON AL v




BASE TRIM (BTN) / .
/

MASONRY WALL
(NOT BY CHIEF)

WALL PANEL
#12 - 14 x 2" (6" C.C)
MASTIC (NOT BY CHIEF)

BASE MEMBER (REFER TO ANCHOR
ROD PLAN FOR ANCHORAGE)

| 103-0" G

‘—‘m]
S od

REVISIONS

\\\“Sliip,“’
— £y

[231c3lcdics

NOTWITHSTANDING THE ADJACENT S RE OT Mg

oA NEITHER THE ENGINEER NAMED ;‘\C R e 4 //b,"o;, SECTIONS & DETAILS

:gng c:l:NF ;:gfl{ugg RlsEggEgGmE . )-': RVZ\HL A iy m Z TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME

ENGINEER NAMED AND CHIEF BUILDINGS -~ © - - % = | PORTLAND, ME

RESPONSIBILITY IS UMITED TO THE 2 \\!»'\’l :‘3\[33'“1"’ , : - ]

STRUCTURAL PERFORMANCE OF THE <t o o = | 2-BUILDING COMPLEX

PRE-ENGINEERED COMPONENTS A iy G230 0=

DESIGNED BY CHIEF BUILDINGS. = CHIEE DRAWN | GHECK ORDER NO. ES
BUILDINGS /1 JSA AL
| asmaprtmele uoinord] 13.NOV-09 | SDECLY C095226 Es




CABLE

HILLSIDE

ASSEMBLY WASHER WASHER
HILLSIDE
FRAME m / WASHER WASHER
> N / WASHER
CABLE NUT
1 ENDWALL ASSEMBLY \ / FLOOR
RAFTER ANCHOR
BEAM =
N
I
HILLSIDE CABLE
WASHER |- CORNER ASSEMBLY ii
, FRAME RAFTER OR }
Y ENDWALL RAFTER BEAM
CABLE WIND BRACING AT CABLE WIND BRACING AT TYPICAL CABLE L
TOP OF FRAME COLUMN INTERMEDIATE PURLIN CONNECTION AT END (
GD1650F GD1650I GD18508 GD165ID FLOOR ANCHOR DETAIL
@ #12-14 X 1 14"
END
CE N#12 - 14 X 1 14"
YALL COLOR)
FLANGE BRAC
DRILLED WI
DO NOT EYEEED 60° ANGLE.
TYPICAL FLANGE BRACE
: ZEE GIRT TO B-B POST JE—
(2#10- 16X 1°
PANCAKE HEAD ~ (2410 - 16 X 1"
PANCAKE HEAD
GIRT RAKE ANGLE
AHLE \ & (2)#10 - 16 X 1"
O CORNER ANGLE PANCAKE HEAD
| A-20 BASE MEMBER _\ I™- CORNER ANGLE
s * | A-20
1 | !
CORNER ANGLE { \* |
\r'\i\p,u.\‘:;\ -
o I"‘ ‘G" pod f"‘ S ,:, :'.jfgl_:_m
GD1760F
DETAIL AT EAVE & GABLE CORNER ANGLE TO GIRT Gp17508 DETAIL AT BASE ANGLE RAKE ANGLE LAP DETAIL
CS ROOF e, MSC / STC ROOF SYSTEM
- V4
NOTE: REVISIONS NOTWITHSTANDING THE ADJACENT o ?:‘i = o ,l Y4 L ., UPDATED DETAILS PROCGD1
SEAL NEITHER THE ENGINEERNAMED > AT .+ g, %,
THE DETAILS ON THIS PAGE OVERRIDE DETAILS INTHE A :g?::g;:g-g?gf&ég:;mme s & «Xﬂ :ﬁAW TR e TURNER BROTHERS, LLC. /W. B. MASON PORTLAND ME
GENERAL DETALS MANUA- ENGINEER NAMED AND CHIEF BUILDINGS = < e =" 4’4, z PORTLAND, ME
A ——— RESPONSIBILITY IS LIMITED TO THE : . WaLRET-29 - =
smuc*ru:m. &wc%mw N’?; THE : B N G E = 2-BUILDING COMPLEX
PRE-ENGINEERED 5 il R T
@ D%lg:ED BY CHIEF BUILDINGS. AN, .y gf}j" £ CI-"EE DRAWN | CHECK ORDER NO. uD1
: RELEASED 11-30-09 SopysRl S S [BULDINGS LG, LS = C095226
| SUPERSEDES _ | 10-23-08 Yo\ o SR LTS : aoa491 24 NOV-09 | 9-DEC09 Up1




Quality Assuranca Palicy

The following Quality Assurance Palicy is comprised of a list of gudelines and procedures lo
expedite customer service requirements in the fiald. Chief's objective is {0 produce a firsi-clasa
product and back it up with the best customer secvice in the industry.

The Quality Assurance Palicy has been developed aver the last twenty-five years and is based
aon handling customer service in tha field. These guldelines will simplify the communication
process and expedite any spacial requirements needed to make your project run as smooth
as possible.

Commeon Industry Practices

The corraction of minor misfits by the use of drift pins to draw the components into line,
shimming, moderate amounts of reaming, chipping and cutting, and the replacement of
minor shortages of material are a narmal part of eraction and are nol subject ta claim.

Chief will not pay claims unless the foflowing claim and authorization procedure is strictly
complied with by the Builder, or if the correction work s started prior to recelpt by Builder of
ChiaPs written "Autherization of Comrective Work"™. If eraction Is not by the Builder, the Erector
is responsible for providing the Buildar with the information necessary to make the claim to
Chief as provided below.

Chief is not respensible for any claim resulting from the usa of any drawings or literature not
specifically released for the components purchased for the project.

Chief is not responsible for any claim resulting from the usa by the Erector of any improper
matarial or material coaining defects that can be detectsd by visual inspettion. Claims for
disassembling such imprapar or defectiva material and costs of arecting replacement matarial
are not allowed.

Befere you call Chief

Have tha following information ready when you call.
The name of Chiefs Project Manager for your project. This information should ba
avallable from the office.
Chiafs order number for your project. This Information is available from the drawings
Page numbers and detail callouts from tha drawings.
Part marks.
Line numbars.

1.  ghorisgeand Demage Clalms,

Chief parsonnal chack off all companents of orders prior to shipment. Howaver, itis imperative
that the Builder checks each shipmant against the packing ligts or Shipping Papers 1o ensure
that the shipment is complete and no damage has occumed.

One of the smaller resale boxes conains a set of drawings, M.S.D.S. sheets and other
important documents thal will aid you in aracting your project. Look for a bax that says
“DOCUMENTS ENCLOSED".

Checking the Shipping List

Duplicates of packing lists are part of tha paper work that is shipped with each load of steel.
The full sel of checked off Shipping Papers is on the final shipment. An advance copy of the
Shipping Papers is included in the document box.

Find the box or bundie that contains the packing list Check the contents against this packing
list The larger pieces have a piece mark written on the part, check the piace mark against the
Shipping Papars.

Golumns, raftars, posts, crane beams, etc. are markad with a greasa pencil or paint
prior to painting.

Tube flange brace marks are stamped into the and of the parl. The Shipping Papers
also reflact the tube size and length in inches.

Sag angles: The standard sag angle part XSA-61.25 is stamped into the parl. The
miscellaneous sag angles are marked with a colored marker after they are
primed. If there is a pile of sama sag angles, only the top angle is marked
and the pila is color coded with spray paint on the ands. Tha Shipping
Papers also reflect the angle size and {ength in inches.

Special plates are individually marked with a grease pancil prior to painting. The
drawings that are sent with the steel shipment will also have parl drawings
included. These drawing packets are with the cther documents included
with the shipment.

Standard bokting clips are stampad on the individual parts. A drawing of these dlips is
also included in the "Companent Identification” section of the “General
Details (G.D.) Manual".

Wind bracing is marked with a tag that is attached to the piece. The mark number
cantains the siza of the cabls in eighths (ax.  4WB = %" diameter cabla) and
langth in inches. Rod bracing is marked witha tag that is stretch wrapped
ta the bundla.

Girts and purfins are marked with a grease pencil or printer priof to painting. A
packing sfip is also attached to each bundle that contains quantities and marks.
The bundle weight is marked on the top of the bundle. The member size and
length in inches are printed on the Shipping Papers.

Sheeting is identified with packing lists. These packing lists also include the number
of piecas of aach length and the weighL In the casa of LTC sheeting, the marks
are writlan on the paper on the end of the panel, and again on a crate support
beard loward the inside of the bundie. The length of the shesting in inchesis
included in the piece mark. The sheeting prefix genarally contains the use of tha
panel. RS = roof sheet, WS = sidawall sheeting, EW = endwall sheeting, LP =
liner panel.

marks and quantities. The part dimensions are GCOversad in um g
\dentification® section of the G.D. Manual. Special rim fabs are included with the
arection drawings, M.S.D.S. sheets and other documents in the resala bax,

Bolts, nuts, strews and other assorted smaller resale parts are packed in smalier
boxes and then packaged into larger resale boxes. A packing list is attached to
these larger boxes that describe the contents.

Miasing or Damaged Parts

Any missing items are to be noted on the Bill of Lading and Chief is to ba notified immediately.
If any item is damaged, it should ba noted on the freight bill.

Concealed shortages must be raparted to Chief during the following period dating from recaipt
of the first load:
ona load job =2 weeks four load job = 5 weeks
twoloadjob =3 weeks five load job = 6 weeks
three load job =4 weeks six load job =7 weeks
seven or more load job = B weeks

ChiePs responsibility for shortages expires at the end of these notification periods.
Replacement Shipment

Maximum effort will be mada by Chief o ship replacemant companents as quickly as possible.
Chief will attempt to ship standard componants fabricated in its building plants within 48 hours
and stock items will be ready to ship in 24 hours.

When a shortage is determined, the Bullder needs to notify Chiefs Project Manager of the
Quality Assuranca issua. Chiefs Order Number and complete information describing the parts
required must ba conveyed at this time.

Chief will act immediately to get the parts to the Builder and responsibility for the problem will
ba detarmined later.

After the problem has been corrected, Chief will determine where the responsibility fies. Ifit is
Chiaf's emar, Chiaf will provide the replacement material Otherwise, Chief will inveice
accordingly.

Transit Damage

Nominal damage can occur during transit. Chief supplies touch-up paint for such cases.
Howaver, if excassive damage occurs, the following procedure will be obsarved:
Material damage (transit or otherwise) should ba noted on the carrier's Bil Of Lading.
If the damage is not noted on the Bill of Lading, Chief may charge the
Builder for the replacement material. Customer pickup - Driver must inspecl the load
for any damaged material before laaving the plant and notify Chief accordingly.

White Rust
All panels shipped from Chiaf's building plants are in good condition.

Chief bundles andior boxes components only for protection during transil. This packaging is
not intended for protection during storage.

Panels must ba stored so aif can circulate freely. Trapped moisture may cause discciaration
or white rust. Rafar to the G.D. Manual for proper bundiing storage. This manual is upplied
with each order. {again in the resale bax)

Primer

Chiaf's shop primer is a rust inhibiting grey modified acrylic primer. This paint is i:uended to
protect the steel only for short periods of exposure to ondinary atmospharic cont:.ons. In
addition, shop primer does not provide the uniforrity of appaarance, or the du::oility of afield
applied finish coat of paint over a shop primer.

The Builder mus ansure that tha grey primed material is stored in such a marier that water,
snow, ica and other debnis are not allowed to pond in the members. i pimed material is lo be
top coated with other paint, mpatﬁ&lytastsmustbepafaﬂndhyte&ﬁlu:ﬂnm
acceptable results. These compatibiily tests should cover a cross-section of membars (clips,
angles, purlins, girts, columns, rafiers, beams, flange braces, etc.) as different prim=rs may be
used on different members.

2. Autharization for Returning Merchandise

The authorization must be obtained from Chief's Project Manager before merchandise may be
returned for credit. Retumed merchandise shall be Limited to resale type items (i.e. fusteners,
closures, atc.) at Chiefs cole discretion. Chief ratains tha prerogative to allow or disaliow the
return of merchandise.

Builder must contact Chief's Praject Manager with a description of the merchandise and the
raasan for thair request.

\When authorization has been granted, an autharization form will be sent to the Builder along
wiﬁnapra—numberedtagtnaﬂadﬂnﬂmmerdwxdisabeingrahmad.

A 15% re-stock dnm};emaybaassassedmaumrd\andisawhimisamheﬁzedhbemned‘

be returned for credit.

Replacement ltams
All merchandisa shippad will ba invoiced to the Builder. This includes paris sent to replaca
mierchandise which has been authorized for retum ta Chief.

Cradit will be lssued to the Buildars account when the retumed marchandise has baen
accepted by Chiaf. Chief may refuse to credil your account {f the retumed merchandisa is not
in good condition.

3.  Field Modifications

Notification of Field Probleme

The initial claim must be made promptiy by either written or verbal notification to Chief's Project
Manager. Any varbal notification must be followed up in writing within 7 days. The initial claim
must includa:
1, Description of nature and Lhe extent of the emors, including quantities.
2. Description of nature and the extent of proposed comective work, induding estimated
marrhours and costs.
3. Matarial to be purchased from other than Chief, including estimatad quantities and
costs,
4. Maximum total cost of proposed corrective waork and matsxial bo be purchased from
other than Chief.

I necessary, Chief may request pictures, field measuraments, of other information that will aid
in helping 1o soiva the problem.

Authorization MUST be obtained from Chiefs Technical Service Department in writing before
fiekd modification is made. Authorization identifies tha problem and allows Chief to participata
in ariving at @ solution, it does not assign fault or liabllity.

Chief cannot be responsible for structures which have been modifiad without specific
authorization. Any such action may void waranties.

“The order number must be shown on all backcharges submitted to Chief.
Backcharga Procedura

All backcharges must ba submitted within 14 (fourteen) days after completion of the comective
work for which prior approved authorization has been given. Failure to submit the backcharge
within this fima Limit will negate Chiefs obligation to pay said charges.

Information Required for Submitting the Final Claim

1. Chief's Order Number.
Z.Adudmmhaumbydalaofdtredlaborusauucun'acﬁvewakandhounymtesoipay.
3. Cost of material {not minor supplies) authorized by Chief to be purchased

from other than Chief, including copies of paid invoices.
d.Talalacmaldiradmstdmuacﬁvewodt(swnnfzanda)L

The final ciaim shall be signed and certified trua and comedt by the Builder. Final daims

mepaidtud\eBu'ldeﬂnanamouMufmalassarnf

a) cost set forth in the initial report and subsequert "Authorization for Field

Modification”,

or
b) thetotal actual direct cost of comective wark.

5,memstofeqmmenl(renhlwdewzdaﬁm).maﬂmd&supmim.meﬁeadandpmﬁt
ara nol subject to claim, This includes crane and it charges.

QUALITY ASSURANCE POLICY
TURNER BROTHERS, LLC. / W. B. MASON PORTLAND ME
PORTLAND, ME
2-BUILDING COMPLEX
RELEASED 01-15.07 Fm!;!ﬂﬁﬁ% Dj;m CH:LC . Sl T
SUPERSEDES bt dpirmam . S5 L NOV-09 | SDEC09 C095226 a1




